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>E=>64=<< $545D4?L=>7> 7>EG44DEF65==>7> >5D47>64F5?L=>7> EF4=44DF4 6OE-

H57> >5D47>64=<O ?> =4?D46?5=<N 23.04.03 ->E??G4F4F<O FD4=E?>DF=> - F5E=>-

?>7<G5E><E <4H<= < >><??5>E>6 (<47<EFD), GF65D645==>7> ?D<>47>< �<=<EF5D-

EF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 07.08.2020 7. 7 906, 4 F4>65 

E GG5F>< >E>55==>EF5= $5E?G5?<>< �475EF4=. 
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�6545=<5 
 

�D>7D4<<4 ?> ?D><76>4EF65==>= ?D4>F<>5 (=4GG=>-<EE?54>64F5?LE>4O D4-

5>F4) D47D45>F4=4 4?O >5GG4NM<EEO ?> =4?D46?5=<N ?>47>F>6>< 23.04.03 ->E-

??G4F4F<O FD4=E?>DF=>- F5E=>?>7<G5E><E <4H<= < >><??5>E>6, =4?D46?5==>EFL 

(?D>D<?L) �6F><>5<?< < 46F><>5<?L=>5 E>7O=EF6>. 

� E>6D5<5==OE GE?>6<OE FD55>64=<O DO=>4 FDG44 > 6O?GE>=<>4< 6G7>6 

7=4G<F5?L=> 6OD>E?<, GF> ?>FD55>64?> E>744=<O ?>E?54>64F5?L=>=, =4GG=>-

>5>E=>64==>= E<EF5<O ?>47>F>6>< >44D>6, 646=>5 <5EF> 6 >>F>D>= >F6>4<FEO 

?D4>F<G5E>>= D>D<5 >5GG5=<O. 

-DD5>F<6=> >D74=<7>64==4O =4GG=>-<EE?54>64F5?LE>4O D45>F4 E>>D4M45F 

D47DO6 <564G F5>D5F<G5E><< >5GG5=<5< < ?D4>F<G5E>>= 45OF5?L=>EFLN E?5F<4-

?<EF>6 ?D><76>4EF64. � ?D>F5EE5 ?D>E>645=<O ?D4>F<>< D476<64NFEO ?D>D5EE<-

>=4?L=O5 >><?5F5=F<< 5G4GM<E E?5F<4?<EF>6 ?D><76>4EF64. 

�4GG=>-<EE?54>64F5?LE>4O D45>F4 >5GG4NM<EEO O6?O5FEO 64D<4F<6=>= G4-

EFLN >E=>6=>= ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= ?D>7D4<<O (����) 6OE-

H57> >5D47>64=<O < ?D54EF46?O5F E>5>= >4=G <7 D>D< >D74=<74F<< GG55=>7> ?D>-

F5EE4, 74>?NG4NMGNEO 6 D476<F<< G <47<EFD>6 E?>E>5=>EF< > E4<>EF>OF5?L=O< 

F5>D5F<G5E><< < ?D4>F<G5E><< EG645=<O< < 6O6>44<, 6OD45>F>5 G<5=<= >5N5>-

F<6=>= >F5=>< =4GG=>= <=D>D<4F<<, D476<F<< E6>5>4O =4GG=>7> ?><E>4 < 

EFD5<?5=<5 > ?D<<5=5=<N =4GG=OE 7=4=<= 6 =4GG=>-<EE?54>64F5?LE>>= 45OF5?L-

=>EF<. 

�4GG=>-<EE?54>64F5?LE>4O D45>F4 <47<EFD4 6O?>?=O5FEO ?>4 DG>>6>4-

EF6>< =4GG=>7> DG>>6>4<F5?O 6O?GE>4NM5= >4D54DO G=<65DE<F5F4. �4?D46?5-

=<5 =4GG=>-<EE?54>64F5?LE>>= D45>FO >?D545?O5FEO 6 E>>F65FEF6<< E ?D>7D4<-

<>= ?>47>F>6>< <47<EFD4 < F5<>= 6O?GE>=>= >64?<D<>4F<>==>= D45>FO. 

� EFDG>FGD5 >E=>6=>= >5D47>64F5?L=>= ?D>7D4<<O <47<EFD4FGDO ?> 

=4?D46?5=<N ?>47>F>6>< 23.04.03 ->E??G4F4F<O FD4=E?>DF=>- F5E=>?>7<G5E><E 

<4H<= < >><??5>E>6, �?>> 2 «�D4>F<><» �2.�.01(�) «�4GG=> - <EE?54>64F5?L-

E>4O D45>F4» O6?O5FEO G4EFLN, D>D<<DG5<4O GG4EF=<>4<< >5D47>64F5?L=OE >F-

=>H5=<= < ?D54EF46?O5F 6<4 GG55=OE 74=OF<=, =5?>ED54EF65==> >D<5=F<D>64=-

=OE =4 =4GG=>-?D4>F<G5E>GN ?>47>F>6>G, 6 ?D>F5EE5 >>F>DOE >5GG4NM<5EO E4-

<>EF>OF5?L=> D5H4NF =4GG=O5 7444G< =4 6O?GE>4NM5= >4D54D5 <?< 6 GE?>6<OE 

45=EF6GNM<E >D74=<74F<= D47?<G=OE D>D< E>5EF65==>EF<. �D4>F<>4 >EGM5EF6-

?O5FEO =4 >E=>65 4>7>6>D>6 <564G G=<65DE<F5F>< < E>>F65FEF6GNM<<< EFDG>FG-

D4<<. 

�?O <=64?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO (���) 6 

E>>F65FEF6<< E ���� �� ?> =4?D46?5=<N ?>47>F>6>< 23.04.03 ->E??G4F4F<O 

FD4=E?>DF=>- F5E=>?>7<G5E><E <4H<= < >><??5>E>6, =4?D46?5==>EFL (?D>D<?L) 

�6F><>5<?< < 46F><>5<?L=>5 E>7O=EF6> < �D<>474 �<=>5D=4G>< $$ 71383 >F 

27.11.2015 7. «�5 GF65D645=<< �>?>65=<O > ?D4>F<>5 >5GG4NM<EEO, >E64<64N-

M<E >E=>6=O5 ?D>D5EE<>=4?L=O5 >5D47>64F5?L=O5 ?D>7D4<<O 6OEH57> >5D47>-

64=<O» D>D<4 ?D>6545=<O =4GG=>-<EE?54>64F5?LE>>= D45>FO GEF4=46?<645FEO 

G=<65DE<F5F>< E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G-

4?L=OE 6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO. 



5 

�D< =4?D46?5=<< <=64?<44 < >5GG4NM57>EO E ��� 4?O ?D>E>645=<O, 

?D54GE<>FD5==>= GG55=O< ??4=>< ?D4>F<><, G=<65DE<F5F E>7?4E>6O645F E =<< 

GE?>6<O < 6<4O FDG44 E GG5F>< D5>><5=44F<= <54<>>-E>F<4?L=>= M>E?5DF<7O < 

<=4<6<4G4?L=>= ?D>7D4<<O D545<?<F4F<<. 

�4EF>OM4O ?D>7D4<<4 ?> ?D><76>4EF65==>= ?D4>F<>5 (=4GG=>- <EE?54>64-

F5?LE>4O D45>F4) ?> =4?D46?5=<N ?>47>F>6>< 23.04.03 ->E??G4F4F<O FD4=E-

?>DF=>-F5E=>?>7<G5E><E <4H<= < >><??5>E>6, =4?D46?5==>EFL (?D>D<?L) �6F>-

<>5<?< < 46F><>5<?L=>5 E>7O=EF6>, D47D45>F4=4 =4 >E=>64=<< E?54GNM<E 4>>G-

<5=F>6: 

- $545D4?L=O= 74>>= >F 29 45>45DO 2012 7. 7 273-$� «�5 >5D47>64=<< 6 

$>EE<=E>>= $545D4F<<» E <7<5=5=<O<< < 4>?>?=5=<O<<. 

- $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF ($��% ��) ?> 

=4?D46?5=<N ?>47>F>6>< 23.04.03 ->E??G4F4F<O FD4=E?>DF=>- F5E=>?>7<G5E><E 

<4H<= < >><??5>E>6 (GD>65=L <47<EFD4FGDO), GF65D645==>7> ?D<>47>< �<=<-

EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 07.08.20207.  

7 906. 

- «�>?>65=<5 > ?D4>F<>5 >5GG4NM<EEO, >E64<64NM<E >E=>6=O5 ?D>D5E-

E<>=4?L=O5 >5D47>64F5?L=O5 ?D>7D4<<O 6OEH57> >5D47>64=<O», GF65D645=> 

?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 27 =>-

O5DO 2015 7. 7 1383. 

- �D<>47 �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 

05.04.2017 7. 7 301 «�5 GF65D645=<< ?>DO4>4 >D74=<74F<< < >EGM5EF6?5=<O >5-

D47>64F5?L=>= 45OF5?L=>EF< ?> >5D47>64F5?L=O< ?D>7D4<<4< 6OEH57> >5D47>-

64=<O - ?D>7D4<<4< 54>4?46D<4F4, ?D>7D4<<4< E?5F<4?<F5F4, ?D>7D4<<4< <47<-

EFD4FGDO». 

- 'EF46 $���' �� �475EF4=E><= ��'. 

- 'G55=O= ??4= ?> ?>47>F>6>5 <47<EFD>6 ?> =4?D46?5=<N 23.04.03 ->E??G-

4F4F<O FD4=E?>DF=>- F5E=>?>7<G5E><E <4H<= < >><??5>E>6», =4?D46?5==>EFL 

«�6F><>5<?< < 46F><>5<?L=>5 E>7O=EF6>. 

- �>>4?L=O5 =>D<4F<6=O5 4>FO �475EF4=E>>7> ��' 6 G4EF<, >4E4NM5=EO 

>5D47>64F5?L=>= 45OF5?L=>EF<. 
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1. �<4 ?D4>F<><, E?>E>5O < D>D<4 55 ?D>6545=<O 
 

1.1. �<4 ?D4>F<>< 3 ?D><76>4EF65==4O ?D4>F<>4. 

&<? 3 =4GG=>-<EE?54>64F5?LE>4O D45>F4. 

�4GG=>-<EE?54>64F5?LE>4O D45>F4 O6?O5FEO G4EFLN >5D47>64F5?L=>= ?D>-

7D4<<O 23.04.03 ->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= < >><??5>-

E>6 < =4?D46?5=4 =4 >55E?5G5=<5 =5?D5DO6=>EF< < ?>E?54>64F5?L=>EF< >6?445-

=<O >5GG4NM<<<EO ?D>D5EE<>=4?L=>= 45OF5?L=>EFLN 6 E>>F65FEF6<< E FD55>64-

=<O<< > GD>6=N ?>47>F>6>< 6O?GE>=<>4 < D>D<<D>64=<N ?D>D5EE<>=4?L=OE 

>><?5F5=F<=. 

 

1.2. %?>E>5 ?D>6545=<O 
%?>E>5 ?D>6545=<O 3 EF4F<>=4D=4O, 6O574=4O. 

 

1.3. $>D<4 ?D>6545=<O =4GG=>-<EE?54>64F5?LE>>= D45>FO 
$>D<4 ?D>6545=<O =4GG=>-<EE?54>64F5?LE>>= D45>FO 3 4<E>D5F=4O ?> ?5-

D<>44< ?D>6545=<O ?D4>F<>, =4 5475 EF>D>==<E >D74=<74F<= ?>4 DG>>6>4EF6>< 

?D5?>4464F5?5= 6O?GE>4NM5= >4D54DO F5E=<G5E>>= M>E??G4F4F<< 46F><>5<?5=. 

 
2. �5D5G5=L ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?D< ?D>E>645=<< ?D4>-

F<><, E>>F=5E5==OE E ??4=<DG5<O<< D57G?LF4F4<< >E6>5=<O >5D47>64F5?L-
=>= ?D>7D4<<O 

 
&5?L =4GG=>-<EE?54>64F5?LE>>= D45>FO (=4GG=>-<EE?54>64F5?LE>>= D4-

5>FO) (44?55 ��$) - ?>?GG5=<5 E6545=<= >5 >E=>64E =4GG=>-<EE?54>64F5?LE>>= 

D45>FO; ?D<>5D5F5=<5 =46O>>6 ?D<<5=5=<O <5F>4>6 F5>D5F<G5E><E < M>E?5D<-

<5=F4?L=OE <EE?54>64=<= 6 <=65=5D=>< 45?5, =46O>>6 6O?>?=5=<O < >5D45>F>< 

M>E?5D<<5=F4?L=OE 44==OE. 

�444G< ��$: 

- >55E?5G5=<5 EF4=>6?5=<O ?D>D5EE<>=4?L=>7> =4GG=> - <EE?54>64F5?L-

E>>7> <OH?5=<O <47<EFD4=F>6, D>D<<D>64=<5 G =<E G5F>>7> ?D54EF46?5=<O >5 

>E=>6=OE ?D>D5EE<>=4?L=OE 7444G4E, E?>E>54E <E D5H5=<O; 

- D>D<<D>64=<5 G<5=<= <E?>?L7>64FL E>6D5<5==O5 F5E=>?>7<< E5>D4 <=-

D>D<4F<<, >5D45>F>< < <=F5D?D5F4F<< ?>?GG5==OE M>E?5D<<5=F4?L=OE < M<?<-

D<G5E><E 44==OE, 6?445=<5 E>6D5<5==O<< <5F>44<< <EE?54>64=<=; 

- D>D<<D>64=<5 7>F>6=>EF< ?D>5>F<D>64FL < D54?<7>6O64FL 6 >5D47>64-

F5?L=>= ?D4>F<>5 =>6>5 E>45D64=<5 GG55=OE ?D>7D4<<, >EGM5EF6?OFL <==>64-

F<>==O5 >5D47>64F5?L=O5 F5E=>?>7<<; 

- >55E?5G5=<5 7>F>6=>EF< > ?D>D5EE<>=4?L=><G E4<>E>65DH5=EF6>64=<N, 

D476<F<N <==>64F<>==>7> <OH?5=<O < F6>DG5E>>7> ?>F5=F<4?4, ?D>D5EE<>-

=4?L=>7> <4EF5DEF64; 

- E4<>EF>OF5?L=>5 D>D<G?<D>64=<5 < D5H5=<5 7444G, 6>7=<>4NM<E 6 E>45 

=4GG=>-<EE?54>64F5?LE>>= < ?5447>7<G5E>>= 45OF5?L=>EF< < FD55GNM<E G7?G5-

?5==OE ?D>D5EE<>=4?L=OE 7=4=<=; 

- ?D>6545=<5 5<5?<>7D4D<G5E>>= D45>FO E ?D<6?5G5=<5< E>6D5<5==OE 
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<=D>D<4F<>==OE F5E=>?>7<=; 

- <7GG<FL >E=>6=O5 ?>=OF<O, >?4EE<D<>4F<N < EGM=>EFL <5F>4>6 <EE?54>-

64=<O; 

- >6?445FL 7=4=<O<< < =46O>4<< ??4=<D>64=<O M>E?5D<<5=F>6, =45?N45-

=<= < GG5F4 D57G?LF4F>6 6 M>E?5D<<5=F4E; 

- <7GG<FL >E>55==>EF< ?D<<5=5=<O EF4F<EF<G5E><E <5F>4>6 4=4?<74 D5-

7G?LF4F>6 M>E?5D<<5=F>6; 

- >6?445FL =46O>4<< < 7=4=<O<< ?> >D74=<74F<< < ?D>6545=<N =4GG=>-

?D><76>4EF65==OE < ?D><76>4EF65==OE >?OF>6. 

� D57G?LF4F5 ?D>E>645=<O ��$ >5GG4NM<=EO 4>?65= 45<>=EFD<D>64FL 

E?54GNM<5 D57G?LF4FO: 

��-1 %?>E>55= D47D454FO64FL <5D>?D<OF<O ?> 6=54D5=<N E>6D5<5==OE 

<5F>4>6 < F5E=>?>7<= F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE 

ED54EF6 E <E?>?L7>64=<5< <4F5<4F<G5E><E < <=D>D<4F<>==OE <>45?5=. 

��-4��-1 �EGM5EF6?O5F E5>D <EE>4=OE 44==OE 4?O D47D45>F>< E<EF5<O 

< =>D<4F<6>6 F5E=<G5E>>= M>E??G4F4F<< =>6OE FD4=E?>DF=OE ED54EF6, 4 F4>65 

E?>E>55= > E>744=<N <4F5<4F<G5E><E < <=D>D<4F<>==OE <>45?5= <EE?54G5<OE 

?D>F5EE>6, O6?5=<= < >5N5>F>6, >F=>EOM<EEO > ?D>D5EE<>=4?L=>= ED5D5; 

��-5��-1 $47D454FO645F ?4D4<5FDO < =>D<4F<6O E<EF5<O F5E=<G5E>>= 

M>E??G4F4F<< =>6OE FD4=E?>DF=OE ED54EF6; 

��-6��-1 �D>6>4<F >F5=>G MDD5>F<6=>EF< ?D<<5=5=<O =>6>= F5E=>?>-
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21. ---//--- �E=>6O ?4F5=F=OE <EE?54>64=<=. �=F5?-

?5>FG4?L=4O E>5EF65==>EFL  
20 

---//--- 

22. ---//--- �E=>6O >D4F>DE>>7> <E>GEEF64 < ?D46<?4 

E?>D4 (MD<EF<>4)  
18 

---//--- 

23. ---//--- �5?>64O MF<>4 < =D46EF65==4O >F65FEF65=-

=>EFL GG5=OE 74 D57G?LF4FO E6><E <EE?5-

4>64=<=  

18 

---//--- 

24. ---//--- -?5<5=FO >D74=<74F<< ?<G=>= D45>FO <E-

E?54>64F5?O  
18 

---//--- 

25. ---//--- $<7<>?>7<G5E><5 < ?E<E>?>7<G5E><5 >E-

=>6O =4GG=>7> F6>DG5EF64  
18 

---//--- 

26. ---//--- &5>D5F<G5E><5 < M>E?5D<<5=F4?L=O5 <E-

E?54>64=<O 
32 

---//--- 

27. ---//--- �=D>D<4F<>==O= ?><E> 6 =4GG=OE <EE?5-

4>64=<OE  
28 

---//--- 

28. ---//--- �5D45>F>4 D57G?LF4F>6 M>E?5D<<5=F4?L-

=OE <EE?54>64=<=  
28 

---//--- 

29. ---//--- �E=>6O F5>D<< ??4=<D>64=<O M>E?5D<<5=-

F>6  
20 

---//--- 

30. ---//--- $5H5=<5 <7>5D5F4F5?LE><E 7444G  22 ---//--- 
31. ---//--- �?4=<D>64=<5 M>E?5D<<5=F4?L=OE <EE?5-

4>64=<= 
20 

 

32. ---//--- $>D<G?<D>64=<5 >5M<E 6O6>4>6 ?> ?>?G-

G5==O< D57G?LF4F4< =4GG=>7> <EE?54>64-

=<O  

20 

---//--- 

33. �4>?NG<-

F5?L=O= 

�D>D<?5=<5 >FG5F>6 ?> =4GG=> - <EE?54>-

64F5?LE>>= D45>F5. �4M<F4 >FG5F4 ?> 

=4GG=>-<EE?54>64F5?LE>>= D45>F5. 

12 �4G5F E >F5=-

>>= 

�E57> 648  
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6. $>D<4 >FG5F=>EF< ?> ?D4>F<>5 
 

�> <F>74< 6O?>?=5=<O ��$ <47<EFD4=FO ?D54EF46?ONF ?D5?>4464F5?N-

DG>>6>4<F5?N ?<EL<5==O= >FG5F > 6O?>?=5=<< ?D>7D4<<O ��$. 

�FG5F ?> ��$ ?D54EF46?O5F E>5>= E5D>HND>64==O= <4F5D<4?, >D>D<?5=-

=OE =4 ?<EF4E D>D<4F4 �4 < 74?<E4==O= =4 D5>><5=4>64==>< =>E<F5?5 44==OE. 

�FG5F 4>?65= 6>?NG4FL E?54GNM<5 D4745?O: 

1. F<FG?L=O= ?<EF; 

2. E>45D64=<5; 

3. 66545=<5; 

4. >E=>6=GN G4EFL; 

5. 74>?NG5=<5; 

6. E?<E>> <E?>?L7>64==>= ?<F5D4FGDO; 

7. ?D<?>65=<5 

� >E=>6=>= G4EF< <47<EFD4=F 4>?65= ?D<65EF< D57G?LF4FO ��$ E>7?4E=> 

?>EF46?5==O< 7444G4<. $57G?LF4FO ?D4>F<G5E><E <EE?54>64=<= F4>65 6>?NG4-

NFEO 6 >E=>6=GN G4EFL. 

�D<?>65=<O > >FG5FG ?D54EF46?ONF E>5>= G5DF56< <745?<=, 45F4?5=, 747>-

F>6>> < E5>D>G=OE 54<=<F, <E?>?L7G5<OE 6 ?D>F5EE5 ��$. 

�FG5F=>EFL ?> D57G?LF4F4< ��$ >EGM5EF6?O5FEO 6 E?54GNM5< ?>DO4>5: 

1.%>EF46?5=<5 G5D=>6>7> 64D<4=F4 >FG5F4. 

2.�D>D<?5=<5 >FG5F4 6 E>>F65FEF6<< E FD55>64=<O<< ?D>7D4<<O ��$ < 

D5>><5=44F<= >4D54DO, ?>?GG5=<5 ?<EL<5==>7> >F7O64 DG>>6>4<F5?O >F 547O 

?D4>F<>< (6 ?>E?54=<= 45=L ?D4>F<><). 

3. �D54EF46?5=<5 >FG5F4 =4 >4D54DG < >FG5F4 > 6O?>?=5=<< <=4<6<4G4?L-

=>7> 7444=<O ?> F5<5 ��$. 

4. �4M<F4 >FG5F>6 > ��$ ?D><76>4<FEO 6 ?5D6GN =545?N E?54GNM57> 74 

?D4>F<>>= GG55=>7> E5<5EFD4. � <E>?NG<F5?L=OE E?GG4OE ?D< =4?<G<< G646<-

F5?L=>= ?D<G<=O GEF4=46?<64NFEO <=4<6<4G4?L=O5 ED>>< 74M<FO >FG5F>6 ?> 

?D4>F<>5. 

5. �D4>F<>4 74EG<FO645FEO ?> D57G?LF4F4< 74M<FO >FG5F>6 ?5D54 E?5F<-

4?L=>= >><<EE<5=, E>744==>= >4D54D>=, E GG4EF<5< DG>>6>4<F5?O ?D><76>4-

EF65==>= ?D4>F<>< >F >4D54DO. $>D<4 ?D><56GF>G=>= 4FF5EF4F<< 3 74G5F E 

>F5=>>=. 

6. �5GG4NM<5EO, =5 6O?>?=<6H<5 ?D>7D4<<G ��$ ?> G646<F5?L=>= ?D<-

G<=5, =4?D46?ONFEO =4 ?D4>F<>G 6F>D<G=>, 6 E6>5>4=>5 >F GG55O 6D5<O, 6 F. G. < 

6 ?5D<>4 >4=<>G?. 

7. �5GG4NM<<EO, =5 6O?>?=<6H<< ?D>7D4<<G ��$ 557 G646<F5?L=>= ?D<-

G<=O, ?>?GG<6H<< >FD<F4F5?L=O= >F7O6 > D45>F5 <?< =5G4>6?5F6>D<F5?L=GN 

>F5=>G ?> D57G?LF4F4< ��$, ?D54>EF46?O5FEO 6>7<>6=>EFL ?D>E>645=<O ?D4>-

F<>< < E44G< >FG5F4 ?> <=4<6<4G4?L=><G 7D4D<>G =4 ?5D<>4 =5 5>?55 >4=>7> 

7>44, ?> <EF5G5=<N >>F>D>7> >=< <>7GF 5OFL >FG<E?5=O <7 G=<65DE<F5F4, >4> 

<<5NM<5 4>445<<G5E>GN 744>?65==>EFL. 

 

7. $>=4 >F5=>G=OE ED54EF6 4?O ?D>6545=<O ?D><56GF>G=>= 4FF5EF4F<< 
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>5GG4NM<EEO ?> ?D4>F<>5 
7.1 �5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>-

F5EE5 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O 
%5-

<5EFD 

(>GDE) 

�<EF<??<=O /M?5<5=FO ?D>7D4<<O (?D4>F<><, ���), GG4EF6GNM<5 6 D>D<<D>-

64=<< >><?5F5=F<< 

��-1 %?>E>55= D47D454FO64FL <5D>?D<OF<O ?> 6=54D5=<N E>6D5<5==OE <5F>4>6 < F5E=>-

?>7<= F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE ED54EF6 E <E?>?L7>64=<5< <4-

F5<4F<G5E><E < <=D>D<4F<>==OE <>45?5=. 

��-4��-1 �EGM5EF6?O5F E5>D <EE>4=OE 44==OE 4?O D47D45>F>< E<EF5<O < =>D<4F<6>6 

F5E=<G5E>>= M>E??G4F4F<< =>6OE FD4=E?>DF=OE ED54EF6, 4 F4>65 E?>E>55= > E>744=<N <4-

F5<4F<G5E><E < <=D>D<4F<>==OE <>45?5= <EE?54G5<OE ?D>F5EE>6, O6?5=<= < >5N5>F>6, 

>F=>EOM<EEO > ?D>D5EE<>=4?L=>= ED5D5; 

2(1) �=D>D<4F<>==>5 >55E?5G5=<5 46F>FD4=E?>DF=OE ?D54?D<OF<= 

1(1) %>6D5<5==O5 ?D>5?5<O < =4?D46?5=<O D476<F<O F5E=<G5E>>= M>E??G4F4F<< 

FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= < >5>DG4>64=<O 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 

��-5��-1 $47D454FO645F ?4D4<5FDO < =>D<4F<6O E<EF5<O F5E=<G5E>>= M>E??G4F4F<< =>-

6OE FD4=E?>DF=OE ED54EF6 

3(2) %FD4F57<O D476<F<O ?D><76>4EF65==>-F5E=<G5E>>= 547O ?D54?D<OF<= 46F><>-

5<?L=>7> FD4=E?>DF4 

1(1) %>6D5<5==O5 ?D>5?5<O < =4?D46?5=<O D476<F<O F5E=<G5E>>= M>E??G4F4F<< 

FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= < >5>DG4>64=<O 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 

��-6��-1 �D>6>4<F >F5=>G MDD5>F<6=>EF< ?D<<5=5=<O =>6>= F5E=>?>7<< F5E=<G5E>>= 

M>E??G4F4F<< FD4=E?>DF=>7> ED54EF64 (F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4) 

2(1) �GF< E>65DH5=EF6>64=<O F5E=>?>7<G5E><E ?D>F5EE>6 &� 46F><>5<?5= 

3(2) %FD4F57<O D476<F<O ?D><76>4EF65==>-F5E=<G5E>>= 547O ?D54?D<OF<= 46F><>-

5<?L=>7> FD4=E?>DF4 

1(1) 
�?F<<<74F<O F5E=>?>7<< D5<>=F4 < 6>EEF4=>6?5=<O FD4=E?>DF=>-F5E=>?>7<G5-

E><E <4H<= 

1(1) �D>5>F<D>64=<5 F5E=>?>7<G5E><E ?D>F5EE>6 D5<>=F4 < 6>EEF4=>6?5=<O 45F4?5= 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 

3(2) &5E=<>4 FD4=E?>DF4, >5E?G6<64=<5 < D5<>=F 

��-2 %?>E>55= D47D454FO64FL < 6O?>?=OFL <5D>?D<OF<O ?> E>65DH5=EF6>64=<N ?D>F5EE4 

F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE ED54EF6 
��-1��-2 �EGM5EF6?O5F 6O5>D 4>>G<5=F4F<<, E>45D64M5= FD55>64=<O > D54?<74F<< ?D>-

F5EE>6 F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE ED54EF6 
2(1) �D74=<74F<O 46F>E5D6<E4 

2(1) �GF< E>65DH5=EF6>64=<O F5E=>?>7<G5E><E ?D>F5EE>6 &� 46F><>5<?5= 

1(1) 
�?F<<<74F<O F5E=>?>7<< D5<>=F4 < 6>EEF4=>6?5=<O FD4=E?>DF=>-F5E=>?>7<G5-

E><E <4H<= 
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1(1) �D>5>F<D>64=<5 F5E=>?>7<G5E><E ?D>F5EE>6 D5<>=F4 < 6>EEF4=>6?5=<O 45F4?5= 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 

��-3��-2 �EGM5EF6?O5F E5>D <=D>D<4F<< > D57G?LF4F4E 45OF5?L=>EF< ?> F5E=<G5E>><G 

>5E?G6<64=<N < D5<>=FG FD4=E?>DF=OE ED54EF6 
2(1) �=D>D<4F<>==>5 >55E?5G5=<5 46F>FD4=E?>DF=OE ?D54?D<OF<= 

2(1) �D74=<74F<O 46F>E5D6<E4 

2(1) $5H5=<5 <=65=5D=OE 7444G =4 -�� 

2(1) &5E=>?>7<G5E>4O (?D><76>4EF65==>-F5E=>?>7<G5E>4O) ?D4>F<>4 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

��-3 %?>E>55= ?D>6>4<FL >F5=>G MDD5>F<6=>EF< ?D>F5EE4 >5E?G6<64=<O < D5<>=F4 FD4=E-

?>DF=OE ED54EF6 
��-1��-3 $>D<G?<DG5F F5?L, 7444GG (<) <EE?54>64=<O FD4=E?>DF=>7> ED54EF64 (>><?>-

=5=F4 FD4=E?>DF=>7> ED54EF64) 
3(2) �D>5>F<D>64=<5 46<74F5?5= 4?O <E?>?L7>64=<O 4?LF5D=4F<6=OE 6<4>6 F>??<64 

1(1) %>6D5<5==O5 ?D>5?5<O < =4?D46?5=<O D476<F<O >>=EFDG>F<= FD4=E?>DF=OE < 

FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= < >5>DG4>64=<O 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) 
�O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 
��-3��-3 �D>6>4<F D4EG5F ?4D4<5FD>6 FD4=E?>DF=>7> ED54EF64 (>><?>=5=F4 FD4=E?>DF=>7> ED54EF64). 

3(2) �D>5>F<D>64=<5 46<74F5?5= 4?O <E?>?L7>64=<O 4?LF5D=4F<6=OE 6<4>6 F>??<64 

1(1) %>6D5<5==O5 ?D>5?5<O < =4?D46?5=<O D476<F<O >>=EFDG>F<= FD4=E?>DF=OE < 

FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= < >5>DG4>64=<O 

3,4(2) $5H5=<5 <=65=5D=OE 7444G =4 -�� 

2(1) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) 
�O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 

2(1) �E=>6O >?F<>< < E65F>F5E=<>< 

��-4 %?>E>55= ?D>6>4<FL 4=4?<7 MDD5>F<6=>EF< <==>64F<>==OE ?D54?>65=<= < >D74=<-

7>64FL <E 6=54D5=<5 
��-1��-4 $>D<G?<DG5F F5?L < 7444G< =4FGD=>7> <EE?54>64=<O FD4=E?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E?>DF=>7> ED54EF64) 
2(1) �5F>4O M>E?5DF=>7> 4=4?<74 F5E=<G5E>>7> E>EF>O=<O <4H<= < >5>DG4>64=<O 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) 
�O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 

��-2��-4 %>EF46?O5F ?D>5>F ??4=4 ?D>6545=<O =4FGD=>7> <EE?54>64=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>=5=F4 FD4=E?>DF=>7> ED54EF64) 
2(1) �5F>4O M>E?5DF=>7> 4=4?<74 F5E=<G5E>>7> E>EF>O=<O <4H<= < >5>DG4>64=<O 

3,4(2) �4GG=>-<EE?54>64F5?LE>4O D45>F4 

4(2) �D544<??><=4O ?D4>F<>4 

4(2) 
�O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4-

F<>==>= D45>FO 
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7.2 �?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O >><?5F5=F<= =4 D47-
?<G=OE MF4?4E <E D>D<<D>64=<O 

�>>474F5?< 

�D<F5D<< >F5=<64=<O 

,>4?4 ?> FD44<F<>==>= ?OF<54??L=>= E<EF5<5 

4>?>D>7>6O= 
(«=5G4>6?5F- 

6>D<F5?L=>») 

?>D>7>6O= 
(«G4>6?5F6>D<- 

F5?L=>») 

?D>46<=GFO= 
(«E>D>H>») 

6OE>><= 
(«>F?<G=>») 

��-1 %?>E>55= D47D454FO64FL <5D>?D<OF<O ?> 6=54D5=<N E>6D5<5==OE <5F>4>6 < F5E=>?>7<= F5E=<-
G5E>>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE ED54EF6 E <E?>?L7>64=<5< <4F5<4F<G5E><E < <=D>D-
<4F<>==OE <>45?5= 
��-4 �EGM5EF6?O5F E5>D <EE>4=OE 44==OE 4?O D47D45>F>< E<EF5<O < =>D<4F<6>6 F5E=<G5E>>= M>E-
??G4F4F<< =>6OE FD4=E?>DF=OE ED54EF6, 4 F4>65 E?>E>55= > E>744=<N <4F5<4F<G5E><E < <=D>D<4F<-
>==OE <>45?5= <EE?54G5<OE ?D>F5EE>6, O6?5=<= < >5N5>F>6, >F=>EOM<EEO > ?D>D5EE<>=4?L=>= ED5D5 

�=4=<O �5 7=45F, >4> >EG-

M5EF6?OFL E5>D <E-

E>4=OE 44==OE 4?O 

D47D45>F>< E<EF5<O 

< =>D<4F<6>6 F5E-

=<G5E>>= M>E??G4-

F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6, 4 

F4>65 E?>E>55= > 

E>744=<N <4F5<4F<-

G5E><E < <=D>D<4-

F<>==OE <>45?5= 

<EE?54G5<OE ?D>-

F5EE>6, O6?5=<= < 

>5N5>F>6, >F=>EO-

M<EEO > ?D>D5EE<>-

=4?L=>= ED5D5 

�=45F, >4> >EGM5EF6-

?OFL E5>D <EE>4=OE 

44==OE 4?O D47D4-

5>F>< E<EF5<O < =>D-

<4F<6>6 F5E=<G5E>>= 

M>E??G4F4F<< =>6OE 

FD4=E?>DF=OE 

ED54EF6, 4 F4>65 E?>-

E>55= > E>744=<N <4-

F5<4F<G5E><E < <=-

D>D<4F<>==OE <>45-

?5= <EE?54G5<OE ?D>-

F5EE>6, O6?5=<= < >5N-

5>F>6, >F=>EOM<EEO > 

?D>D5EE<>=4?L=>= 

ED5D5=4 =<7>>< 

GD>6=5 

�=45F, >4> >EGM5EF6-

?OFL E5>D <EE>4=OE 

44==OE 4?O D47D4-

5>F>< E<EF5<O < =>D-

<4F<6>6 F5E=<G5E>>= 

M>E??G4F4F<< =>6OE 

FD4=E?>DF=OE 

ED54EF6, 4 F4>65 E?>-

E>55= > E>744=<N <4-

F5<4F<G5E><E < <=-

D>D<4F<>==OE <>45-

?5= <EE?54G5<OE ?D>-

F5EE>6, O6?5=<= < >5N-

5>F>6, >F=>EOM<EEO > 

?D>D5EE<>=4?L=>= 

ED5D5 =4 4>EF4F>G=>< 

GD>6=5 

�=45F, >4> >EGM5EF6-

?OFL E5>D <EE>4=OE 

44==OE 4?O D47D4-

5>F>< E<EF5<O < 

=>D<4F<6>6 F5E=<-

G5E>>= M>E??G4F4-

F<< =>6OE FD4=E-

?>DF=OE ED54EF6, 4 

F4>65 E?>E>55= > E>-

744=<N <4F5<4F<G5-

E><E < <=D>D<4F<-

>==OE <>45?5= <E-

E?54G5<OE ?D>F5E-

E>6, O6?5=<= < >5N-

5>F>6, >F=>EOM<EEO 

> ?D>D5EE<>=4?L=>= 

ED5D5=4 6OE>>>< 

GD>6=5 

'<5=<O �5 G<55F >EGM5EF6-

?OFL E5>D <EE>4=OE 

44==OE 4?O D47D4-

5>F>< E<EF5<O < 

=>D<4F<6>6 F5E=<-

G5E>>= M>E??G4F4-

F<< =>6OE FD4=E-

?>DF=OE ED54EF6, 4 

F4>65 E?>E>55= > 

E>744=<N <4F5<4F<-

G5E><E < <=D>D<4-

F<>==OE <>45?5= 

<EE?54G5<OE ?D>-

F5EE>6, O6?5=<= < 

>5N5>F>6, >F=>EO-

M<EEO > ?D>D5EE<>-

=4?L=>= ED5D5 

'<55F >EGM5EF6?OFL 

E5>D <EE>4=OE 44=-

=OE 4?O D47D45>F>< 

E<EF5<O < =>D<4F<6>6 

F5E=<G5E>>= M>E??G4-

F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6, 4 

F4>65 E?>E>55= > E>-

744=<N <4F5<4F<G5-

E><E < <=D>D<4F<>=-

=OE <>45?5= <EE?54G-

5<OE ?D>F5EE>6, O6?5-

=<= < >5N5>F>6, >F=>-

EOM<EEO > ?D>D5EE<>-

=4?L=>= ED5D5E EGM5-

EF65==O<< >H<5>4<< 

'<55F D47D454FO64FL 

>EGM5EF6?OFL E5>D <E-

E>4=OE 44==OE 4?O 

D47D45>F>< E<EF5<O < 

=>D<4F<6>6 F5E=<G5-

E>>= M>E??G4F4F<< =>-

6OE FD4=E?>DF=OE 

ED54EF6, 4 F4>65 E?>-

E>55= > E>744=<N <4-

F5<4F<G5E><E < <=-

D>D<4F<>==OE <>45-

?5= <EE?54G5<OE ?D>-

F5EE>6, O6?5=<= < >5N-

5>F>6, >F=>EOM<EEO > 

?D>D5EE<>=4?L=>= 

ED5D5E =5EGM5EF65=-

=O<< >H<5>4<< 

'<55F >EGM5EF6?OFL 

E5>D <EE>4=OE 44=-

=OE 4?O D47D45>F>< 

E<EF5<O < =>D<4F<-

6>6 F5E=<G5E>>= 

M>E??G4F4F<< =>6OE 

FD4=E?>DF=OE 

ED54EF6, 4 F4>65 E?>-

E>55= > E>744=<N 

<4F5<4F<G5E><E < 

<=D>D<4F<>==OE 

<>45?5= <EE?54G5-

<OE ?D>F5EE>6, O6-

?5=<= < >5N5>F>6, 

>F=>EOM<EEO > ?D>-

D5EE<>=4?L=>= ED5-

D5=4 4>EF4F>G=> E>-

D>H5< GD>6=5 

�46O><  �5 6?4455F =46O-

>4<< E5>D4 <EE>4-

=OE 44==OE 4?O D47-

D45>F>< E<EF5<O < 

=>D<4F<6>6 F5E=<-

G5E>>= M>E??G4F4-

F<< =>6OE FD4=E-

?>DF=OE ED54EF6, 4 

F4>65 E?>E>55= > 

E>744=<N <4F5<4F<-

G5E><E < <=D>D<4-

F<>==OE <>45?5= 

<EE?54G5<OE 

�?4455F =46O>4<< 

E5>D4 <EE>4=OE 44=-

=OE 4?O D47D45>F>< 

E<EF5<O < =>D<4F<6>6 

F5E=<G5E>>= M>E??G4-

F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6, 4 

F4>65 E?>E>55= > E>-

744=<N <4F5<4F<G5-

E><E < <=D>D<4F<>=-

=OE <>45?5= <EE?54G-

5<OE ?D>F5EE>6, O6?5-

=<= < >5N5>F>6, 

�?4455F =46O>4<< 

E5>D4 <EE>4=OE 44=-

=OE 4?O D47D45>F>< 

E<EF5<O < =>D<4F<6>6 

F5E=<G5E>>= M>E??G4-

F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6, 4 

F4>65 E?>E>55= > E>-

744=<N <4F5<4F<G5-

E><E < <=D>D<4F<>=-

=OE <>45?5= <EE?54G-

5<OE ?D>F5EE>6, O6?5-

=<= < >5N5>F>6, 

�?4455F =46O>4<< 

E5>D4 <EE>4=OE 44=-

=OE 4?O D47D45>F>< 

E<EF5<O < =>D<4F<-

6>6 F5E=<G5E>>= 

M>E??G4F4F<< =>6OE 

FD4=E?>DF=OE 

ED54EF6, 4 F4>65 E?>-

E>55= > E>744=<N 

<4F5<4F<G5E><E < 

<=D>D<4F<>==OE 

<>45?5= <EE?54G5-

<OE ?D>F5EE>6, 



16 

?D>F5EE>6, O6?5=<= 

< >5N5>F>6, >F=>EO-

M<EEO > ?D>D5EE<>-

=4?L=>= ED5D5 

>F=>EOM<EEO > ?D>-

D5EE<>=4?L=>= ED5D5 

E EGM5EF65==O<< 

>H<5>4<< 

>F=>EOM<EEO > ?D>-

D5EE<>=4?L=>= ED5D5  

=4 4>EF4F>G=>< 

GD>6=5 

O6?5=<= < >5N5>F>6, 

>F=>EOM<EEO > ?D>-

D5EE<>=4?L=>= 

ED5D5 =4 6OE>>>< 

GD>6=5 

��-5 $47D454FO645F ?4D4<5FDO < =>D<4F<6O E<EF5<O F5E=<G5E>>= M>E??G4F4F<< =>6OE FD4=E?>DF-
=OE ED54EF6 
�=4=<O =5 7=45F ?4D4<5FDO 

< =>D<4F<6O E<-

EF5<O F5E=<G5E>>= 

M>E??G4F4F<< =>-

6OE FD4=E?>DF=OE 

ED54EF6 

7=45F ?4D4<5FDO < 

=>D<4F<6O E<EF5<O 

F5E=<G5E>>= M>E??G4-

F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6 E EG-

M5EF65==O<< >H<5-

>4<< 

7=45F ?4D4<5FDO < 

=>D<4F<6O E<EF5<O 

F5E=<G5E>>= M>E??G4-

F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6 =4 

4>EF4F>G=>< GD>6=5 

7=45F ?4D4<5FDO < 

=>D<4F<6O E<EF5<O 

F5E=<G5E>>= M>E??G-

4F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6 =4 

6OE>>>< GD>6=5 

'<5=<O =5 G<55F D47D454FO-

64FL ?4D4<5FDO < 

=>D<4F<6O E<EF5<O 

F5E=<G5E>>= M>E-

??G4F4F<< =>6OE 

FD4=E?>DF=OE 

ED54EF6 

G<55F D47D454FO64FL 

?4D4<5FDO < =>D<4-

F<6O E<EF5<O F5E=<-

G5E>>= M>E??G4F4F<< 

=>6OE FD4=E?>DF=OE 

ED54EF6 E EGM5EF65=-

=O<< >H<5>4<< 

G<55F D47D454FO64FL 

?4D4<5FDO < =>D<4-

F<6O E<EF5<O F5E=<-

G5E>>= M>E??G4F4F<< 

=>6OE FD4=E?>DF=OE 

ED54EF6 =4 4>EF4F>G-

=>< GD>6=5 

G<55F D47D454FO64FL 

?4D4<5FDO < =>D<4-

F<6O E<EF5<O F5E-

=<G5E>>= M>E??G4F4-

F<< =>6OE FD4=E-

?>DF=OE ED54EF6 =4 

6OE>>>< GD>6=5 

�46O><  =5 6?4455F =46O-

>4<< D47D45>F>< ?4-

D4<5FD>6 < =>D<4-

F<6>6 E<EF5<O F5E-

=<G5E>>= M>E??G4-

F4F<< =>6OE FD4=E-

?>DF=OE ED54EF6 

6?4455F =46O>4<< 

D47D45>F>< ?4D4<5F-

D>6 < =>D<4F<6>6 E<-

EF5<O F5E=<G5E>>= 

M>E??G4F4F<< =>6OE 

FD4=E?>DF=OE ED54EF6 

E EGM5EF65==O<< 

>H<5>4<< 

6?4455F =46O>4<< 

D47D45>F>< ?4D4<5F-

D>6 < =>D<4F<6>6 E<-

EF5<O F5E=<G5E>>= 

M>E??G4F4F<< =>6OE 

FD4=E?>DF=OE ED54EF6 

=4 4>EF4F>G=>< 

GD>6=5 

6?4455F =46O>4<< 

D47D45>F>< ?4D4<5F-

D>6 < =>D<4F<6>6 

E<EF5<O F5E=<G5-

E>>= M>E??G4F4F<< 

=>6OE FD4=E?>DF-

=OE ED54EF6 =4 6O-

E>>>< GD>6=5 

��-6 �D>6>4<F >F5=>G MDD5>F<6=>EF< ?D<<5=5=<O =>6>= F5E=>?>7<< F5E=<G5E>>= M>E??G4F4F<< 
FD4=E?>DF=>7> ED54EF64 (F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4) 
�=4=<O �5 7=45F, >4> ?D>6>-

4<FL >F5=>G MDD5>-

F<6=>EF< ?D<<5=5-

=<O =>6>= F5E=>?>-

7<< F5E=<G5E>>= 

M>E??G4F4F<< 

FD4=E?>DF=>7> 

ED54EF64 (F5E=<G5-

E>>7> >5E?G6<64-

=<O < D5<>=F4) 

�=45F, >4> ?D>6>4<FL 

>F5=>G MDD5>F<6=>-

EF< ?D<<5=5=<O =>6>= 

F5E=>?>7<< F5E=<G5-

E>>= M>E??G4F4F<< 

FD4=E?>DF=>7> ED54-

EF64 (F5E=<G5E>>7> >5-

E?G6<64=<O < D5-

<>=F4) E EGM5EF65=-

=O<< >H<5>4<< 

�=45F, >4> ?D>6>4<FL 

>F5=>G MDD5>F<6=>-

EF< ?D<<5=5=<O =>6>= 

F5E=>?>7<< F5E=<G5-

E>>= M>E??G4F4F<< 

FD4=E?>DF=>7> ED54-

EF64 (F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4) =4 4>EF4F>G-

=>< GD>6=5 

�=45F, >4> ?D>6>-

4<FL >F5=>G MDD5>-

F<6=>EF< ?D<<5=5-

=<O =>6>= F5E=>?>-

7<< F5E=<G5E>>= 

M>E??G4F4F<< FD4=E-

?>DF=>7> ED54EF64 

(F5E=<G5E>>7> >5-

E?G6<64=<O < D5-

<>=F4) =4 6OE>>>< 

GD>6=5 

'<5=<O =5 G<55F ?D>6>4<FL 

>F5=>G MDD5>F<6-

=>EF< ?D<<5=5=<O 

=>6>= F5E=>?>7<< 

F5E=<G5E>>= M>E-

??G4F4F<< FD4=E-

?>DF=>7> ED54EF64 

(F5E=<G5E>>7> >5-

E?G6<64=<O < D5-

<>=F4) 

G<55F ?D>6>4<FL 

>F5=>G MDD5>F<6=>-

EF< ?D<<5=5=<O =>6>= 

F5E=>?>7<< F5E=<G5-

E>>= M>E??G4F4F<< 

FD4=E?>DF=>7> ED54-

EF64 (F5E=<G5E>>7> >5-

E?G6<64=<O < D5-

<>=F4) E EGM5EF65=-

=O<< >H<5>4<< 

G<55F ?D>6>4<FL 

>F5=>G MDD5>F<6=>-

EF< ?D<<5=5=<O =>6>= 

F5E=>?>7<< F5E=<G5-

E>>= M>E??G4F4F<< 

FD4=E?>DF=>7> ED54-

EF64 (F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4) =4 4>EF4F>G-

=>< GD>6=5 

G<55F ?D>6>4<FL 

>F5=>G MDD5>F<6=>-

EF< ?D<<5=5=<O =>-

6>= F5E=>?>7<< F5E-

=<G5E>>= M>E??G4F4-

F<< FD4=E?>DF=>7> 

ED54EF64 (F5E=<G5-

E>>7> >5E?G6<64=<O 

< D5<>=F4) =4 6OE>-

>>< GD>6=5 

�46O><  =5 6?4455F =46O-

>4<< >F5=>< MDD5>-

F<6=>EF< ?D<<5=5-

=<O =>6>= F5E=>?>-

7<< F5E=<G5E>>= 

M>E??G4F4F<< 

FD4=E?>DF=>7> 

ED54EF64 (F5E=<G5-

E>>7> >5E?G6<64-

=<O < D5<>=F4) 

6?4455F =46O>4<< 

>F5=>< MDD5>F<6=>-

EF< ?D<<5=5=<O =>6>= 

F5E=>?>7<< F5E=<G5-

E>>= M>E??G4F4F<< 

FD4=E?>DF=>7> ED54-

EF64 (F5E=<G5E>>7> >5-

E?G6<64=<O < D5-

<>=F4) E EGM5EF65=-

=O<< >H<5>4<< 

6?4455F =46O>4<< 

>F5=>< MDD5>F<6=>-

EF< ?D<<5=5=<O =>6>= 

F5E=>?>7<< F5E=<G5-

E>>= M>E??G4F4F<< 

FD4=E?>DF=>7> ED54-

EF64 (F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4) =4 4>EF4F>G-

=>< GD>6=5 

6?4455F =46O>4<< 

>F5=>< MDD5>F<6=>-

EF< ?D<<5=5=<O =>-

6>= F5E=>?>7<< F5E-

=<G5E>>= M>E??G4F4-

F<< FD4=E?>DF=>7> 

ED54EF64 (F5E=<G5-

E>>7> >5E?G6<64=<O 

< D5<>=F4) =4 6OE>-

>>< GD>6=5 



17 

��-2 %?>E>55= D47D454FO64FL < 6O?>?=OFL <5D>?D<OF<O ?> E>65DL5=EF6>64=<N ?D>F5EE4 F5E=<G5-
E>>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE ED54EF6 
��-1 �EGM5EF6?O5F 6O5>D 4>>G<5=F4F<<, E>45D64M5= FD55>64=<O > D54?<74F<< ?D>F5EE>6 F5E=<G5-
E>>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE ED54EF6 

�=4=<O �5 7=45F, >4> >EG-

M5EF6?OFL 6O5>D 

4>>G<5=F4F<<, E>-

45D64M5= FD55>64-

=<O > D54?<74F<< 

?D>F5EE>6 F5E=<G5-

E>>7> >5E?G6<64-

=<O < D5<>=F4 

FD4=E?>DF=OE 

ED54EF6 

�=45F, >4> >EGM5EF6-

?OFL 6O5>D 4>>G<5=-

F4F<<, E>45D64M5= 

FD55>64=<O > D54?<74-

F<< ?D>F5EE>6 F5E=<-

G5E>>7> >5E?G6<64-

=<O < D5<>=F4 FD4=E-

?>DF=OE ED54EF6 =4 

=<7>>< GD>6=5 

�=45F, >4> >EGM5EF6-

?OFL 6O5>D 4>>G<5=-

F4F<<, E>45D64M5= 

FD55>64=<O > D54?<74-

F<< ?D>F5EE>6 F5E=<-

G5E>>7> >5E?G6<64-

=<O < D5<>=F4 FD4=E-

?>DF=OE ED54EF6 =4 

4>EF4F>G=>< GD>6=5 

�=45F, >4> >EGM5EF6-

?OFL 6O5>D 4>>G<5=-

F4F<<, E>45D64M5= 

FD55>64=<O > D54?<-

74F<< ?D>F5EE>6 

F5E=<G5E>>7> >5E?G-

6<64=<O < D5<>=F4 

FD4=E?>DF=OE 

ED54EF6 =4 6OE>>>< 

GD>6=5 

'<5=<O �5 G<55F >EGM5EF6-

?OFL 6O5>D 4>>G-

<5=F4F<<, E>45D64-

M5= FD55>64=<O > 

D54?<74F<< ?D>F5E-

E>6 F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4 FD4=E?>DF-

=OE ED54EF6 

'<55F >EGM5EF6?OFL 

6O5>D 4>>G<5=F4F<<, 

E>45D64M5= FD55>64-

=<O > D54?<74F<< ?D>-

F5EE>6 F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4 FD4=E?>DF=OE 

ED54EF6 E EGM5EF65=-

=O<< >H<5>4<< 

'<55F >EGM5EF6?OFL 

6O5>D 4>>G<5=F4F<<, 

E>45D64M5= FD55>64-

=<O > D54?<74F<< ?D>-

F5EE>6 F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4 FD4=E?>DF=OE 

ED54EF6 E =5EGM5-

EF65==O<< >H<5>4<< 

'<55F >EGM5EF6?OFL 

6O5>D 4>>G<5=F4-

F<<, E>45D64M5= 

FD55>64=<O > D54?<-

74F<< ?D>F5EE>6 

F5E=<G5E>>7> >5E?G-

6<64=<O < D5<>=F4 

FD4=E?>DF=OE 

ED54EF6 =4 4>EF4-

F>G=> E>D>H5< 

GD>6=5 

�46O><  �5 6?4455F =46O-

>4<< 6O5>D4 4>>G-

<5=F4F<<, E>45D64-

M5= FD55>64=<O > 

D54?<74F<< ?D>F5E-

E>6 F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4 FD4=E?>DF-

=OE ED54EF6 

�?4455F =46O>4<< 6O-

5>D4 4>>G<5=F4F<<, 

E>45D64M5= FD55>64-

=<O > D54?<74F<< ?D>-

F5EE>6 F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4 FD4=E?>DF=OE 

ED54EF6 E EGM5EF65=-

=O<< >H<5>4<< 

�?4455F =46O>4<< 6O-

5>D4 4>>G<5=F4F<<, 

E>45D64M5= FD55>64-

=<O > D54?<74F<< ?D>-

F5EE>6 F5E=<G5E>>7> 

>5E?G6<64=<O < D5-

<>=F4 FD4=E?>DF=OE 

ED54EF6 =4 4>EF4F>G-

=>< GD>6=5 

�?4455F =46O>4<< 

6O5>D4 4>>G<5=F4-

F<<, E>45D64M5= 

FD55>64=<O > D54?<-

74F<< ?D>F5EE>6 

F5E=<G5E>>7> >5E?G-

6<64=<O < D5<>=F4 

FD4=E?>DF=OE 

ED54EF6 =4 6OE>>>< 

GD>6=5 

��-3 �EGM5EF6?O5F E5>D <=D>D<4F<< > D57G?LF4F4E 45OF5?L=>EF< ?> F5E=<G5E>><G >5E?G6<64=<N < 
D5<>=FG FD4=E?>DF=OE ED54EF6 

�=4=<O �5 7=45F, >4> >EG-

M5EF6?OFL E5>D <=-

D>D<4F<< > D57G?L-

F4F4E 45OF5?L=>EF< 

?> F5E=<G5E>><G 

>5E?G6<64=<N < D5-

<>=FG FD4=E?>DF-

=OE ED54EF6 

�=45F, >4> >EGM5EF6-

?OFL E5>D <=D>D<4F<< 

> D57G?LF4F4E 45OF5?L-

=>EF< ?> F5E=<G5-

E>><G >5E?G6<64=<N 

< D5<>=FG FD4=E?>DF-

=OE ED54EF6 =4 =<7>>< 

GD>6=5 

�=45F, >4> >EGM5EF6-

?OFL E5>D <=D>D<4-

F<< > D57G?LF4F4E 45O-

F5?L=>EF< ?> F5E=<G5-

E>><G >5E?G6<64=<N 

< D5<>=FG FD4=E?>DF-

=OE ED54EF6 =4 4>EF4-

F>G=>< GD>6=5 

�=45F, >4> >EGM5EF6-

?OFL E5>D <=D>D<4-

F<< > D57G?LF4F4E 

45OF5?L=>EF< ?> F5E-

=<G5E>><G >5E?G6<-

64=<N < D5<>=FG 

FD4=E?>DF=OE 

ED54EF6 =4 6OE>>>< 

GD>6=5 

'<5=<O �5 G<55F >EGM5EF6-

?OFL E5>D <=D>D<4-

F<< > D57G?LF4F4E 

45OF5?L=>EF< ?> 

F5E=<G5E>><G >5-

E?G6<64=<N < D5-

<>=FG FD4=E?>DF-

=OE ED54EF6 

'<55F >EGM5EF6?OFL 

E5>D <=D>D<4F<< > 

D57G?LF4F4E 45OF5?L-

=>EF< ?> F5E=<G5-

E>><G >5E?G6<64=<N 

< D5<>=FG FD4=E?>DF-

=OE ED54EF6 E EGM5-

EF65==O<< >H<5>4<< 

'<55F >EGM5EF6?OFL 

E5>D <=D>D<4F<< > 

D57G?LF4F4E 45OF5?L-

=>EF< ?> F5E=<G5-

E>><G >5E?G6<64=<N 

< D5<>=FG FD4=E?>DF-

=OE ED54EF6 E =5EGM5-

EF65==O<< >H<5>4<< 

'<55F >EGM5EF6?OFL 

E5>D <=D>D<4F<< > 

D57G?LF4F4E 45OF5?L-

=>EF< ?> F5E=<G5-

E>><G >5E?G6<64-

=<N < D5<>=FG 

FD4=E?>DF=OE 

ED54EF6 =4 4>EF4-

F>G=> E>D>H5< 

GD>6=5 

�46O><  �5 6?4455F =46O-

>4<< E5>D4 <=D>D-

<4F<< > D57G?LF4F4E 

45OF5?L=>EF< ?> 

F5E=<G5E>><G >5-

E?G6<64=<N < 

�?4455F =46O>4<< 

E5>D4 <=D>D<4F<< > 

D57G?LF4F4E 45OF5?L-

=>EF< ?> F5E=<G5-

E>><G >5E?G6<64=<N 

< D5<>=FG 

�?4455F =46O>4<< 

E5>D4 <=D>D<4F<< > 

D57G?LF4F4E 45OF5?L-

=>EF< ?> F5E=<G5-

E>><G >5E?G6<64=<N 

< D5<>=FG 

�?4455F =46O>4<< 

E5>D4 <=D>D<4F<< > 

D57G?LF4F4E 45OF5?L-

=>EF< ?> F5E=<G5-

E>><G >5E?G6<64-

=<N < D5<>=FG 



18 

D5<>=FG FD4=E?>DF-

=OE ED54EF6 

FD4=E?>DF=OE ED54EF6 

E EGM5EF65==O<< 

>H<5>4<< 

FD4=E?>DF=OE ED54EF6 

=4 4>EF4F>G=>< 

GD>6=5 

FD4=E?>DF=OE 

ED54EF6 =4 6OE>>>< 

GD>6=5 

��-3 %?>E>55= ?D>6>4<FL >F5=>G MDD5>F<6=>EF< ?D>F5EE4 >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE 
ED54EF6 
��-1 $>D<G?<DG5F F5?L, 7444GG (<) <EE?54>64=<O FD4=E?>DF=>7> ED54EF64 (>><?>=5=F4 FD4=E?>DF=>7> 
ED54EF64) 

�=4=<O �5 7=45F, >4> D>D-

<G?<D>64FL F5?L, 

7444GG (<) <EE?54>-

64=<O FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

�=45F, >4> >4> D>D<G-

?<D>64FL F5?L, 7444GG 

(<) <EE?54>64=<O 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) =4 =<7>>< 

GD>6=5 

�=45F, >4> >4> D>D<G-

?<D>64FL F5?L, 7444GG 

(<) <EE?54>64=<O 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E =5EGM5EF65=-

=O<< 74FDG4=5=<O<< 

�=45F, >4> >4> D>D-

<G?<D>64FL F5?L, 74-

44GG (<) <EE?54>64-

=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>-

=5=F4 FD4=E?>DF-

=>7> ED54EF64) =4 

4>EF4F>G=> E>D>-

H5< GD>6=5 

'<5=<O �5 G<55F D>D<G?<-

D>64FL F5?L, 7444GG 

(<) <EE?54>64=<O 

FD4=E?>DF=>7> 

ED54EF64 (>><?>-

=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

'<55F D>D<G?<D>64FL 

F5?L, 7444GG (<) <EE?5-

4>64=<O FD4=E?>DF-

=>7> ED54EF64 (>><?>-

=5=F4 FD4=E?>DF=>7> 

ED54EF64) E EGM5-

EF65==O<< 74FDG4=5-

=<O<< 

'<55F D>D<G?<D>64FL 

F5?L, 7444GG (<) <EE?5-

4>64=<O FD4=E?>DF-

=>7> ED54EF64 (>><?>-

=5=F4 FD4=E?>DF=>7> 

ED54EF64) E =5EGM5-

EF65==O<< 74FDG4=5-

=<O<< 

'<55F D>D<G?<D>-

64FL F5?L, 7444GG (<) 

<EE?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) 

=4 6OE>>>< GD>6=5 

�46O><  �5 6?4455F =46O-

>4<< D>D<G?<D>64-

=<O F5?<, 7444G< (<) 

<EE?54>64=<O 

FD4=E?>DF=>7> 

ED54EF64 (>><?>-

=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

�?4455F =46O>4<< 

D>D<G?<D>64=<O 

F5?<, 7444G< (<) <EE?5-

4>64=<O FD4=E?>DF-

=>7> ED54EF64 (>><?>-

=5=F4 FD4=E?>DF=>7> 

ED54EF64) E EGM5-

EF65==O<< >H<5>4<< 

�?4455F =46O>4<< 

D>D<G?<D>64=<O 

F5?<, 7444G< (<) <E-

E?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) E 

=5EGM5EF65==O<< 

>H<5>4<< 

�?4455F =46O>4<< 

D>D<G?<D>64=<O 

F5?<, 7444G< (<) <E-

E?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) 

=4 6OE>>>< GD>6=5 

��-3 �D>6>4<F D4EG5F ?4D4<5FD>6 FD4=E?>DF=>7> ED54EF64 (>><?>=5=F4 FD4=E?>DF=>7> ED54EF64) 

�=4=<O �5 7=45F, >4> ?D>6>-

4<FL D4EG5F ?4D4-

<5FD>6 FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

�=45F, >4> ?D>6>4<FL 

D4EG5F ?4D4<5FD>6 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) =4 =<7>>< 

GD>6=5 

�=45F, >4> ?D>6>4<FL 

D4EG5F ?4D4<5FD>6 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) ED54EF6 E =5EG-

M5EF65==O<< 74FDG4-

=5=<O<< 

�=45F, >4> ?D>6>-

4<FL D4EG5F ?4D4-

<5FD>6 FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) =4 

4>EF4F>G=> E>D>-

H5< GD>6=5 

'<5=<O �5 G<55F ?D>6>4<FL 

D4EG5F ?4D4<5FD>6 

FD4=E?>DF=>7> 

ED54EF64 (>><?>-

=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

'<55F ?D>6>4<FL D4E-

G5F ?4D4<5FD>6 FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) E 

EGM5EF65==O<< 74-

FDG4=5=<O<< 

'<55F ?D>6>4<FL D4E-

G5F ?4D4<5FD>6 FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) E 

=5EGM5EF65==O<< 74-

FDG4=5=<O<< 

'<55F ?D>6>4<FL 

D4EG5F ?4D4<5FD>6 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64)E D54EF6 =4 6O-

E>>>< GD>6=5 

�46O><  �5 6?4455F =46O-

>4<< D4EG5F4 ?4D4-

<5FD>6 FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

�?4455F =46O>4<< 

D4EG5F4 ?4D4<5FD>6 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E EGM5EF65=-

=O<< >H<5>4<< 

�?4455F =46O>4<< 

D4EG5F4 ?4D4<5FD>6 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E =5EGM5EF65=-

=O<< >H<5>4<< 

�?4455F =46O>4<< 

D4EG5F4 ?4D4<5FD>6 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) =4 6OE>>>< 

GD>6=5 

��-4 %?>E>55= ?D>6>4<FL 4=4?<7 MDD5>F<6=>EF< <==>64F<>==OE ?D54?>65=<= < >D74=<7>64FL <E 
6=54D5=<5 
��-1 $>D<G?<DG5F F5?L < 7444G< =4FGD=>7> <EE?54>64=<O FD4=E?>DF=>7> ED54EF64 (>><?>=5=F4 FD4=E-
?>DF=>7> ED54EF64) 

�=4=<O �5 7=45F, >4> D>D-

<G?<D>64FL F5?L < 

�=45F, >4> D>D<G?<D>-

64FL F5?L < 7444G< 

�=45F, >4> D>D<G?<D>-

64FL F5?L < 7444G< 

�=45F, >4> D>D<G?<-

D>64FL F5?L < 7444G< 



19 

7444G< =4FGD=>7> 

<EE?54>64=<O 

FD4=E?>DF=>7> 

ED54EF64 (>><?>-

=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

=4FGD=>7> <EE?54>64-

=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) =4 =<7>>< 

GD>6=5 

=4FGD=>7> <EE?54>64-

=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E =5EGM5EF65=-

=O<< 74FDG4=5=<O<< 

=4FGD=>7> <EE?54>-

64=<O FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) =4 

4>EF4F>G=> E>D>-

H5< GD>6=5 

'<5=<O �5 G<55F D>D<G?<-

D>64FL F5?L < 74-

44G< =4FGD=>7> <E-

E?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) 

'<55F D>D<G?<D>64FL 

F5?L < 7444G< =4FGD-

=>7> <EE?54>64=<O 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E EGM5EF65=-

=O<< 74FDG4=5=<O<< 

'<55F D>D<G?<D>64FL 

F5?L < 7444G< =4FGD-

=>7> <EE?54>64=<O 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E =5EGM5EF65=-

=O<< 74FDG4=5=<O<<  

'<55F D>D<G?<D>-

64FL F5?L < 7444G< 

=4FGD=>7> <EE?54>-

64=<O FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) =4 

6OE>>>< GD>6=5 

�46O><  �5 6?4455F =46O-

>4<< D>D<G?<D>64-

=<O F5?< < 7444G< 

=4FGD=>7> <EE?54>-

64=<O FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

�?4455F =46O>4<< 

D>D<G?<D>64=<O F5?< 

< 7444G< =4FGD=>7> 

<EE?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) E 

EGM5EF65==O<< 

>H<5>4<< 

�?4455F =46O>4<< 

D>D<G?<D>64=<O F5?< 

< 7444G< =4FGD=>7> 

<EE?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) E 

=5EGM5EF65==O<< 

>H<5>4<< 

�?4455F =46O>4<< 

D>D<G?<D>64=<O 

F5?< < 7444G< =4FGD-

=>7> <EE?54>64=<O 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) =4 6OE>>>< 

GD>6=5  

��-2 %>EF46?O5F ?D>5>F ??4=4 ?D>6545=<O =4FGD=>7> <EE?54>64=<O FD4=E?>DF=>7> ED54EF64 (>><?>-
=5=F4 FD4=E?>DF=>7> ED54EF64) 

�=4=<O �5 7=45F, >4> E>-

EF46?OFL ?D>5>F 

??4=4 ?D>6545=<O 

=4FGD=>7> <EE?54>-

64=<O FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

�=45F, >4> E>EF46?OFL 

?D>5>F ??4=4 ?D>6545-

=<O =4FGD=>7> <EE?5-

4>64=<O FD4=E?>DF-

=>7> ED54EF64 (>><?>-

=5=F4 FD4=E?>DF=>7> 

ED54EF64) =4 =<7>>< 

GD>6=5 

�=45F, >4> E>EF46?OFL 

?D>5>F ??4=4 ?D>6545-

=<O =4FGD=>7> <EE?5-

4>64=<O FD4=E?>DF-

=>7> ED54EF64 (>><?>-

=5=F4 FD4=E?>DF=>7> 

ED54EF64) E =5EGM5-

EF65==O<< 74FDG4=5-

=<O<< 

�=45F, >4> E>EF46-

?OFL ?D>5>F ??4=4 

?D>6545=<O =4FGD-

=>7> <EE?54>64=<O 

FD4=E?>DF=>7> ED54-

EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) =4 4>EF4F>G=> 

E>D>H5< GD>6=5 

'<5=<O �5 G<55F E>EF46?OFL 

?D>5>F ??4=4 ?D>65-

45=<O =4FGD=>7> <E-

E?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64) 

'<55F E>EF46?OFL ?D>-

5>F ??4=4 ?D>6545=<O 

=4FGD=>7> <EE?54>64-

=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E EGM5EF65=-

=O<< 74FDG4=5=<O<< 

'<55F E>EF46?OFL ?D>-

5>F ??4=4 ?D>6545=<O 

=4FGD=>7> <EE?54>64-

=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E =5EGM5EF65=-

=O<< 74FDG4=5=<O<< 

'<55F E>EF46?OFL 

?D>5>F ??4=4 ?D>65-

45=<O =4FGD=>7> <E-

E?54>64=<O FD4=E-

?>DF=>7> ED54EF64 

(>><?>=5=F4 FD4=E-

?>DF=>7> ED54EF64)  

=4 6OE>>>< GD>6=5 

�46O><  �5 6?4455F =46O-

>4<< E>EF46?5=<O 

?D>5>F4 ??4=4 ?D>-

6545=<O =4FGD=>7> 

<EE?54>64=<O 

FD4=E?>DF=>7> 

ED54EF64 (>><?>-

=5=F4 FD4=E?>DF-

=>7> ED54EF64) 

�?4455F =46O>4<< E>-

EF46?5=<O ?D>5>F4 

??4=4 ?D>6545=<O 

=4FGD=>7> <EE?54>64-

=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E EGM5EF65=-

=O<< >H<5>4<< 

�?4455F =46O>4<< E>-

EF46?5=<O ?D>5>F4 

??4=4 ?D>6545=<O 

=4FGD=>7> <EE?54>64-

=<O FD4=E?>DF=>7> 

ED54EF64 (>><?>=5=F4 

FD4=E?>DF=>7> ED54-

EF64) E =5EGM5EF65=-

=O<< >H<5>4<< 

�?4455F =46O>4<< 

E>EF46?5=<O ?D>5>F4 

??4=4 ?D>6545=<O 

=4FGD=>7> <EE?54>-

64=<O FD4=E?>DF-

=>7> ED54EF64 (>><-

?>=5=F4 FD4=E?>DF-

=>7> ED54EF64) =4 

6OE>>>< GD>6=5  

 

,>4?4 >F5=<64=<O D57G?LF4F>6 ��$ 
 

�D><56GF>G=4O 4FF5EF4F<O ?D4>F<>< ?D>6>4<FEO ?GF5< GEF=>= 74M<FO 

?<EL<5==>7> >FG5F4, ?> <F>74< 4FF5EF4F<< 6OEF46?O5FEO 74G5F E >F5=>>=. �?O ?>-

?GG5=<O 74G5F4 E >F5=>>=, ?><<<> ?D54EF46?5==>7> >FG5F4, EFG45=F 4>?65= ?D>-

45<>=EFD<D>64FL GD>65=L ED>D<<D>64==>EF< >><?5F5=F<= 6 7=4=<< 



20 

F5E=>?>7<G5E><E ?D>F5EE>6 M>E??G4F4F<<, D5<>=F4 < E5D6<E4 FD4=E?>DF=OE < 

FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<=, F5E=>?>7<G5E>>7> < 6E?><>74F5?L=>7> 

>5>DG4>64=<O 4?O <E F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 E >?D545?5=<5< D4-

F<>=4?L=OE F5E=>?>7<G5E><E D56<<>6 D45>FO >5>DG4>64=<O. 

�D><56GF>G=O= >>=FD>?L ?D>6>4<FEO 6 6<45 4<DD5D5=F<D>64==>7> 74-

G5F4. 

�F5=>4 «>F?<G=>» 6OEF46?O5FEO EFG45=FG, >>F>DO=: 

7?G5>>> < 6 ?>?=>< >5N5<5 >E6><? F5E=>?>7<G5E><5 ?D>F5EEO M>E??G4F4-

F<<, D5<>=F4 < E5D6<E4 FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<=, 

F5E=>?>7<G5E>>7> < 6E?><>74F5?L=>7> >5>DG4>64=<O 4?O <E F5E=<G5E>>7> >5E?G-

6<64=<O < D5<>=F4 E >?D545?5=<5< D4F<>=4?L=OE F5E=>?>7<G5E><E D56<<>6 D4-

5>FO >5>DG4>64=<O. �>E?54>64F5?L=>, G5F>> < ?>7<G5E>< EFD>==> <7?4745F >E-

=>6=O5 ?D<=F<?O >F5=>< F5E=<G5E>>7> E>EF>O=<O FD4=E?>DF=OE < FD4=E?>DF=> 

- F5E=>?>7<G5E><E <4H<= < >5>DG4>64=<O E <E?>?L7>64=<5< 4<47=>EF<G5E>>= 

4??4D4FGDO < ?> >>E65==O< ?D<7=4>4<, G<55F F5E=> G6O7O64FL F5>D<N E ?D4>F<-

>>=, <7GG<? >5O74F5?L=GN < 4>?>?=<F5?L=GN ?<F5D4FGDG, >D<5=F<DG5FEO 6 E>-

6D5<5==OE ?D>5?5<4E E5D6<E=>7> >5E?G6<64=<O < D5<>=F4 FD4=E?>DF=OE < 

FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<=, F5E=>?>7<G5E>>7> < 6E?><>74F5?L=>7> 

>5>DG4>64=<O 4?O <E F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4. %>45D64=<5 >FG5F4 

E>>F65FEF6G5F 6E5< FD55>64=<O<, MF4?O ?D4>F<>< D4E>DOFO 6 ?>?=>< >5N5<5, 74-

M<F4 >FG5F4 E>>F65FEF6G5F 6E5< >D<F5D<O<. 

�F5=>G «E>D>L>» ?>?GG45F EFG45=F, >>F>DO=: 

>E6><? F5E=>?>7<G5E><5 ?D>F5EEO M>E??G4F4F<<, D5<>=F4 < E5D6<E4 FD4=E-

?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<=, F5E=>?>7<G5E>>7> < 6E?><>74-

F5?L=>7> >5>DG4>64=<O 4?O <E F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 E >?D545-

?5=<5< D4F<>=4?L=OE F5E=>?>7<G5E><E D56<<>6 D45>FO >5>DG4>64=<O, => 4>?G-

EF<? DO4 =5F>G=>EF5=, =5 <E>464NM<E EGM5EF64 6>?D>E4. �4 4>EF4F>G=>< GD>6=5 

<7?4745F >E=>6=O5 ?D<=F<?O >F5=>< F5E=<G5E>>7> E>EF>O=<O FD4=E?>DF=OE < 

FD4=E?>DF=> - F5E=>?>7<G5E><E <4H<= < >5>DG4>64=<O E <E?>?L7>64=<5< 4<4-

7=>EF<G5E>>= 4??4D4FGDO < ?> >>E65==O< ?D<7=4>4<, G<55F G6O7O64FL F5>D<N E 

?D4>F<>>=, <7GG<? >5O74F5?L=GN < 4>?>?=<F5?L=GN ?<F5D4FGDG. %>45D64=<5 >F-

G5F4 E>>F65FEF6G5F 6E5< FD55>64=<O<, MF4?O ?D4>F<>< D4E>DOFO 6 ?>?=>< >5N-

5<5, 74M<F4 >FG5F4 E>>F65FEF6G5F 6E5< >D<F5D<O<. 

�F5=>4 «G4>6?5F6>D<F5?L=>» EF46<FEO EFG45=FG, >>F>DO=: 

=5 6 ?>?=>< >5N5<5 <<55F ?D54EF46?5=<5 >5 F5E=>?>7<G5E><E ?D>F5EE4E 

M>E??G4F4F<<, D5<>=F4 < E5D6<E4 FD4=E?>DF=OE < FD4=E?>DF=>- F5E=>?>7<G5E><E 

<4H<=, F5E=>?>7<G5E>>7> < 6E?><>74F5?L=>7> >5>DG4>64=<O 4?O <E F5E=<G5-

E>>7> >5E?G6<64=<O < D5<>=F4 E >?D545?5=<5< D4F<>=4?L=OE F5E=>?>7<G5E><E 

D56<<>6 D45>FO >5>DG4>64=<O. �4 =<7>>< GD>6=5 <7?4745F >E=>6=O5 ?D<=F<?O 

>F5=>< F5E=<G5E>>7> E>EF>O=<O FD4=E?>DF=OE < FD4=E?>DF=> - F5E=>?>7<G5E><E 

<4H<= < >5>DG4>64=<O E <E?>?L7>64=<5< 4<47=>EF<G5E>>= 4??4D4FGDO < ?> >>E-

65==O< ?D<7=4>4<, E?45> G6O7O645F F5>D<N E ?D4>F<>>=, E?45> <7GG<? >5O74-

F5?L=GN < 4>?>?=<F5?L=GN ?<F5D4FGDG. %>45D64=<5 >FG5F4 =5 ?>?=>EFLN E>>F-

65FEF6G5F FD55>64=<O<, MF4?O ?D4>F<>< D4E>DOFO =5 6 ?>?=>< >5N5<5, 74M<F4 

>FG5F4 6 =54>EF4F>G=>= EF5?5=< E>>F65FEF6G5F 6E5< >D<F5D<O<. 
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�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, >>F>DO=: 

>5=4DG6<? 7=4G<F5?L=O5 ?D>55?O 6 7=4=<< F5E=>?>7<G5E><E ?D>F5EE>6 

M>E??G4F4F<<, D5<>=F4 < E5D6<E4 FD4=E?>DF=OE < FD4=E?>DF=> - F5E=>?>7<G5-

E><E <4H<=, F5E=>?>7<G5E>>7> < 6E?><>74F5?L=>7> >5>DG4>64=<O 4?O <E F5E=<-

G5E>>7> >5E?G6<64=<O < D5<>=F4, =5 <>65F G6O74FL F5>D<N E ?D4>F<>>=, 6 =54>-

EF4F>G=>= EF5?5=< <7GG<? >5O74F5?L=GN < 4>?>?=<F5?L=GN ?<F5D4FGDG. %>45D-

64=<5 >FG5F4 =5 E>>F65FEF6G5F FD55>64=<O<, MF4?O ?D4>F<>< =5 D4E>DOFO, 74-

M<F4 >FG5F4 =5 E>>F65FEF6G5F 6E5< >D<F5D<O<. 

 

7.3.&<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 4?O 
>F5=>< 7=4=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7G-

NM<E MF4?O D>D<<D>64=<O >><?5F5=F<= 6 ?D>F5EE5 >E6>5=<O >5D47>64-
F5?L=>= ?D>7D4<<O 

 
�D<<5D=O= ?5D5G5=L <=4<6<4G4?L=OE 7444=<= 

 
D4EG5F=>-?D>5>F=4O 45OF5?L=>EFL: 
- D47D45>F>4 ?D>5>F=OE D5H5=<= ?> E5D6<E=><G >5E?G6<64=<N < D5<>=FG 

FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<=, F5E=>?>7<G5E>>7> < 6E?>-

<>74F5?L=>7> >5>DG4>64=<O; 

- D47D45>F>4 ?D>5>F4 D5>>=EFDG>F<<, F5E=<G5E>>7> ?5D56>>DG65=<O ?D54-

?D<OF<O, ?D>6>4OM57> M>E??G4F4F<N, ED4=5=<5, 74?D46>G, &�, D5<>=F < E5D6<E-

=>5 >5E?G6<64=<5 FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= D47?<G-

=>7> =47=4G5=<O E GG5F>< <5E4=<>>-F5E=>?>7<G5E><E, MEF5F<G5E><E, M>>?>7<G5-

E><E < M>>=><<G5E><E FD55>64=<=; 

- <E?>?L7>64=<5 <=D>D<4F<>==OE F5E=>?>7<= ?D< D5>>=EFDG>F<< < F5E=<-

G5E>>< ?5D56>>DG65=<< ?D54?D<OF<O; 

- D47D45>F>4 >>=EFDG>F>DE>>= < F5E=>?>7<G5E>>= 4>>G<5=F4F<< 4?O D5-

<>=F4, <>45D=<74F<< F5E=>?>7<G5E>>7> < 6E?><>74F5?L=>7> >5>DG4>64=<O; 

- ?D>6545=<5 M>>=><<G5E><E < >D74=<74F<>==>-??4=>6OE D4EG5F>6 ?> D5-

>D74=<74F<< ?D><76>4EF64; 

?D><76>4EF65==>-F5E=>?>7<G5E>4O 45OF5?L=>EFL: 
- <E?>?L7>64=<5 ?5DE?5>F<6=OE <5F>4>?>7<= ?D< D47D45>F>5 F5E=>?>7<G5-

E><E ?D>F5EE>6 M>E??G4F4F<<, D5<>=F4 < E5D6<E4 &<&&��. 

- D47D45>F>4 < E>65DH5=EF6>64=<5 ?D>7D4<<O, >D74=<74F<>==>- F5E=<G5-

E><E < F5E=>?>7<G5E><E ?D>F5EE>6 <E?OF4=<= < E5D6<E=>7> >5E?G6<64=<O 

FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= D47?<G=>7> =47=4G5=<O, 

<E 47D574F>6, E<EF5< < M?5<5=F>6; 

- >?D545?5=<5 ?D><76>4EF65==>= ?D>7D4<<O ?> F5E=<G5E>><G >5E?G6<64-

=<N, E5D6<EG, D5<>=FG < 4DG7<< GE?G74< ?D< M>E??G4F4F<< FD4=E?>DF=OE < 

FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= D47?<G=>7> =47=4G5=<O <?< <77>F>6?5=<< 

>5>DG4>64=<O, 6=54D5=<5 MDD5>F<6=OE <=65=5D=OE D5H5=<= 6 ?D4>F<>G; 

- >D74=<74F<O E<EF5<O <4F5D<4?L=>-F5E=<G5E>>7> >55E?5G5=<O ?D54?D<O-

F<O < >>=FD>?O >4G5EF64 74?4E=OE G4EF5=, >><??5>FGNM<E <745?<= < <4F5D<4-

?>6, ?D><76>4EF65==>7> >>=FD>?O F5E=>?>7<G5E><E ?D>F5EE>6, >4G5EF64 
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?D>4G>F<< < GE?G7; 

- >55E?5G5=<5 557>?4E=>EF< M>E??G4F4F<< (6 F>< G<E?5 M>>?>7<G5E>>=), 

ED4=5=<O, >5E?G6<64=<O, D5<>=F4 46F><>5<?5=, F5E=>?>7<G5E>>7> < 6E?><>74-

F5?L=>7> >5>DG4>64=<O, 557>?4E=OE GE?>6<= FDG44 ?5DE>=4?4; 

- >EGM5EF6?5=<5 <5FD>?>7<G5E>>= ?>65D>< >E=>6=OE ED54EF6 <7<5D5=<= < 

4<47=>EF<>< =4 ?D54?D<OF<<; 

M>E?5D<<5=F4?L=>-<EE?54>64F5?LE>4O 45OF5?L=>EFL: 
- D47D45>F>4 F5>D5F<G5E><E <>45?5=, ?>76>?ONM<E ?D>7=>7<D>64FL <7<5-

=5=<5 F5E=<G5E>>7> E>EF>O=<O 46F><>5<?5= < 4<=4<<>G ?4D4<5FD>6 MDD5>F<6-

=>EF< <E F5E=<G5E>>= M>E??G4F4F<<; 

- 4=4?<7 E>EF>O=<O < 4<=4<<>< ?>>474F5?5= >4G5EF64 ?D54?D<OF<O (6>?N-

G4O F5E=>?>7<G5E><5 ?D>F5EEO, F5E=>?>7<G5E>>5 < 6E?><>74F5?L=>5 >5>DG4>64-

=<5 4?O <E F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4) E <E?>?L7>64=<5< =5>5E>4<-

<OE <5F>4>6 < ED54EF6 <EE?54>64=<=; 

- D47D45>F>4 ??4=>6, ?D>7D4<< < <5F>4<> ?D>6545=<O <EE?54>64=<= ?D54-

?D<OF<O; 

- ?D>6545=<5 =4GG=OE <EE?54>64=<= ?> >F45?L=O< D4745?4< (MF4?4<, 7444-

=<O<) F5<O E GG5F>< E?5F<D<>< 6O?>?=O5<>= 6O?GE>=>= >64?<D<>4F<>==>= D4-

5>FO 6 >4G5EF65 >F65FEF65==>7> <E?>?=<F5?O <?< E>6<5EF=> E =4GG=O< DG>>6>-

4<F5?5<; 

- F5E=<G5E>>5 < >D74=<74F<>==>5 >55E?5G5=<5 ?D>6545=<O M>E?5D<<5=F>6 

< =45?N45=<=, 4=4?<7 <E D57G?LF4F>6, D54?<74F<O D57G?LF4F>6 <EE?54>64=<=; 

- GG4EF<5 6 E>EF46?5=<< ??4=>6 < <5F>4<G5E><E ?D>7D4<< <EE?54>64=<= < 

D47D45>F>>; 

- <=D>D<4F<>==O= ?><E> < 4=4?<7 <=D>D<4F<< ?> E<EF5<4< < ?D>F5EE4< 

F5E=<G5E>>= M>E??G4F4F<<, D5<>=F4 < F5E=<G5E>>7> E5D6<E4;  

- 6O?>?=5=<5 >?OF=>->>=EFDG>F>DE><E D47D45>F>>; >5>E=>64=<5 < ?D<<5-

=5=<5 =>6OE <=D>D<4F<>==OE F5E=>?>7<=; GG4EF<5 6 E>EF46?5=<< ?D4>F<G5E><E 

D5>><5=44F<= ?> <E?>?L7>64=<N D57G?LF4F>6 <EE?54>64=<= < D47D45>F>> ?> 

F5<5 6O?>?=O5<>= 6O?GE>=>= >64?<D<>4F<>==>= D45>FO. 
�D><56GF>G=O= >>=FD>?L ?> ?D4>F<>5. �D><56GF>G=>= D>D<>= >>=-

FD>?O 7=4=<=, G<5=<= < =46O>>6 ?> ?D><76>4EF65==>= ?D4>F<>5 O6?O5FEO 74G5F 
E >F5=>>=. �4G5F ?> ?D4>F<>5 E?G6<F 4?O >F5=>< D45>FO EFG45=F4 6 F5G5=<5 

6E57> ?5D<>44 ?D>E>645=<O ?D4>F<>< < ?D<764= 6OO6<FL GD>65=L, ?D>G=>EFL < 

E<EF5<4F<G=>EFL ?>?GG5==OE << F5>D5F<G5E><E < ?D4>F<G5E><E 7=4=<=, ?D<>5-

D5F5=<O =46O>>6 E4<>EF>OF5?L=>= D45>FO, D476<F<O F6>DG5E>>7> <OH?5=<O, 

G<5=<5 E<=F57<D>64FL ?>?GG5==O5 7=4=<O < ?D<<5=OFL <E 6 D5H5=<< ?D4>F<G5-

E><E 7444G. 

�>?D>EO ?D54?>?474NF >>=FD>?L >5M<E <5F>4<G5E><E 7=4=<= < G<5=<=, 

E?>E>5=>EFL EFG45=F>6 ?D><??NEFD<D>64FL <E ?D<<5D4<<, <=4<6<4G4?L=O<< 

<4F5D<4?4<<, E>EF46?5==O<< EFG45=F4<< 6 F5G5=<5 ?D4>F<><. 

�> <F>74< 4<DD5D5=F<D>64==>7> 74G5F4 6OEF46?O5FEO >F5=>4 ?> H>4?5 ?>-

DO4>4: «>F?<G=>», «E>D>H>», «G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>». 
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�D<<5D=O5 <=4<6<4G4?L=O5 7444=<O 4?O ��$ 
 

÷ >7=4>><<FLEO E <=D>D<4F<5= > ?D54?D<OF<<, =4 >>F>D>< >EGM5EF6?O-

5FEO ?D>E>645=<5 ?D4>F<><; 

÷ <7GG<FL >D74=<74F<>==>-G?D46?5=G5E>GN EFDG>FGDG ?D54?D<OF<O, E>-

EF46 < DG=>F<< 57> >E=>6=OE E?G65; 

÷ <7GG<FL F5E=>?>7<< <>=<F>D<=74 M>E??G4F4F<< FD4=E?>DF=OE ED54EF6; 

÷ =4 >E=>65 4=4?<74 <=D>D<4F<< D57G?LF4F>6 <>=<F>D<=74 M>E??G4F4F<< 

F5E=<>< 6O?>?=<FL <EE?54>64=<5 ?4D4<5FD>6, E4D4>F5D<7GNM<E M>E??G4F4F<N; 

÷ <7GG<FL F5E=>?>7<< GG5F4 6O?>?=5=<O D45>F ?> F5E=<G5E>><G >5E?G6<-

64=<N < D5<>=FG; 

÷ =4 >E=>65 4=4?<74 GG5F=>= <=D>D<4F<< > 6O?>?=5=<< D45>F ?> F5E=<-

G5E>><G >5E?G6<64=<N < D5<>=FG 6O?>?=<FL <EE?54>64=<5 ?4D4<5FD>6, E4D4>-

F5D<7GNM<E M>E??G4F4F<N, 4 <<5==>: 

>?D545?<FL ?5D5G5=L 6O?>?=O5<OE D45>F ?> &� < $; 

>?D545?<FL D4E?D545?5=<O 6O?>?=O5<OE D45>F ?> &� < $ ?> ?D><76>4-

EF65==>= ?D>7D4<<5 < FDG4>5<>>EF<; 

>?D545?<FL D4E?D545?5=<O 6O?>?=O5<OE D45>F ?> &� < $ ?> 6D5<5=< EG-

F>>, 4=O< =545?<, 6D5<5=4< 7>44; 

6OO6<FL D4>F>DO, 6?<ONM<5 =4 D4E?D545?5=<O; 

>?D545?<FL ?>>474F5?< =4456=>EF< >>=EFDG>F<6=OE M?5<5=F>6 FD4=E?>DF-

=OE ED54EF6, 4?O 6>EEF4=>6?5=<O >>F>DOE 6O?>?=ONFEO <EE?54G5<O5 D45>FO. 

÷ >D>D<<FL 4=56=<> ?D4>F<><; 

÷ E>EF46<FL >FG5F ?> ?D4>F<>5. 

�444=<5 ?> ��$ F4>65 <>65F 5OFP ED>D<G?<D>64=> DG>>6>4<F5?5< 

?D4>F<>< E GG5F>< E?5F<D<>< 6O?>?=O5<>= >5GG4NM<<EO 6O?GE>=>= >64?<D<-

>4F<>==>= D45>FO 

 

7.4. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4-
=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E 

MF4?O D>D<<D>64=<O >><?5F5=F<= 
 

�F5=>4 7=4=<=, G<5=<=, =46O>>6, E4D4>F5D<7GNM4O MF4?O D>D<<D>64=<O 

>><?5F5=F<= ?> ?D4>F<>5 ?> ?>?GG5=<N ?D>D5EE<>=4?L=OE G<5=<= < >?OF4 ?D>-

D5EE<>=4?L=>= 45OF5?L=>EF< ?D>6>4<FEO 6 D>D<5 F5>GM5= < ?D><56GF>G=>= 4F-

F5EF4F<<. 

� >>=FD>?N F5>GM5= GE?5645<>EF< >F=>EOFEO ?D>65D>4 7=4=<=, G<5=<= < 

=46O>>6 >5GG4NM<EEO ?D< E>55E54>64=<< < ?> D57G?LF4F4< >FG5F4 >5GG4NM<EEO 

6 E>45 <=4<6<4G4?L=>= >>=EG?LF4F<< ?D5?>4464F5?O. 

�D><56GF>G=4O 4FF5EF4F<O ?> ?D4>F<>5 ?D>6>4<FEO E F5?LN 6OO6?5=<O E>-

>F65FEF6<O GD>6=O F5>D5F<G5E><E 7=4=<=, ?D4>F<G5E><E G<5=<= < =46O>>6 ?> 

?D><76>4EF65==>= ?D4>F<>5 FD55>64=<O< $��% �� ?> =4?D46?5=<N ?>47>F>6>< 

23.04.03 ->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4H<= < >><??5>E>6, 

=4?D46?5==>EFL (?D>D<?L) �6F><>5<?< < 46F><>5<?L=>5 E>7O=EF6> 6 D>D<5 

4<DD5D5=F<D>64==>7> 74G5F4. 
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�<DD5D5=F<D>64==O= 74G5F ?D>6>4<FEO ?>E?5 7465DH5=<O ?D>E>645=<O 

?D4>F<>< 6 >5N5<5 D45>G5= GG55=>= ?D>7D4<<O. $>D<4 ?D>6545=<O 74G5F4 >?D5-

45?O5FEO >4D54D>= (GEF=O= - ?> 5<?5F4<, ?<5> ?GF5< E>55E54>64=<O ?> 6>?D>E4<; 

?<EL<5==4O D45>F4, F5EF<D>64=<5 < 4D.). �F5=>4 ?> D57G?LF4F4< 74G5F4 - «>F-

?<G=>», «E>D>H>», «G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>». 

�4644O D>D<4 >>=FD>?O 6>?NG45F 6 E55O F5>D5F<G5E><5 6>?D>EO, ?>76>?O-

NM<5 >F5=<FL GD>65=L >E6>5=<O EFG45=F4<< 7=4=<= < ?D4>F<G5E><5 7444=<O, 6O-

O6?ONM<5 EF5?5=L ED>D<<D>64==>EF< G<5=<= < =46O>>6. 

�D>F54GD4 >F5=<64=<O >><?5F5=F<= >5GG4NM<EEO >E=>64=4 =4 E?54GN-

M<E EF4=44DF4E: 

1. �5D<>4<G=>EFL ?D>6545=<O >F5=><. 

2. �=>7>EFG?5=G4F>EFL: >F5=>4 (>4> ?D5?>4464F5?5<, F4> < EFG45=F4<< 

7DG??O) < E4<>>F5=>4 >5GG4NM57>EO, >5EG645=<5 D57G?LF4F>6 < >><??5>E4 <5D 

?> GEFD4=5=<N =54>EF4F>>6. 

3. �4<=EF6> <E?>?L7G5<>= F5E=>?>7<< 4?O 6E5E >5GG4NM<EEO, 6O?>?=5=<5 

GE?>6<= E>?>EF46<<>EF< D57G?LF4F>6 >F5=<64=<O. 

4. %>5?N45=<5 ?>E?54>64F5?L=>EF< ?D>6545=<O >F5=><: ?D54GE<>FD5=>, 

GF> D476<F<5 >><?5F5=F<= <45F ?> 6>7D4EF4=<N <E GD>6=5= E?>6=>EF<. 

�FG5F > ?D4>F<>5 ?D54EF46?O5F E>5>= ?<EL<5==>5 <7?>65=<5 D57G?LF4F>6 

6O?>?=5==>= ?<G=> ?D4>F<>4=F>< D45>FO ?D< ?>47>F>6>5 < ?D>E>645=<< ?D4>-

F<><. �5N5< >FG5F4 4>?65= E>EF46?OFL 15-20 EFD4=<F (557 GGUF4 ?D<?>65=<=). 

�E=>6=>= F5>EF >FG5F4 4>?65= 5OFL ?4>>=<G=O<, >FD464FL ?<G=GN D45>FG ?D4>-

F<>4=F4, D57G?LF4FO <E?>?L7>64=<O << =4 ?D4>F<>5 <7GG5==>7> 74 ?D54H5EF6GN-

M<= 7>4 >5GG5=<O 6 4>445<<< GG55=>7> <4F5D<4?4 ?> =4?D46?5=<N ?>47>F>6><. 

�?46=O< E>45D64=<5< >FGUF4 4>?6=O 5OFL E6545=<O > >>=>D5F=> 6O?>?=5==>= 
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?><5M4FL 6 ?D<?>65=<O, 4 6 F5>EF5 >FG5F4 4464FL EEO?>< < =5>5E>4<<O5 ?>OE=5-
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E 01.09.2023 4> 31.08.2024 7. 

 

�>EFG? 557 >7D4=<G5=<O G<E?4 ?>?L7>64F5?5=. 
 

10. �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O ?D>6545=<O 
=4GG=>-<EE?54>64F5?LE>>= D45>FO 

�4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 ��� < EF>D>==<E >D74=<74F<=, E 

>>F>DO<< ?>4?<E4=O 4>?7>ED>G=O5 4>7>6>DO > E>FDG4=<G5EF65 (��� «�4E4G-

>4?<=E>4O 46F>>>?>==4 1736», $�, 7. �4E4G>4?4; �'� $� «�4E4G>4?<=E>>5 

��&�-1», $�, 7. �4E4G>4?4 �'� «�4E4G>4?<=E>>5 ���-2», $�, 7. �4E4G>4?4; 

��� «�4E?<=E>>5 �&�», $�, 7. �4E?<=E>; ��� «�755D54HE>>5 �&�», $�, 7. 
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�755D54H; ��� «�<7?ODE>4O 46F>>>?>==4 1293», $�, 7. �<7?OD; ��� «�<7<?ND-

F>6E>>5 �&�», $�, 7. �<7<?NDF, ?>E. �46FG74=; ��� «�6F>F5=FD 746>44 <<. �4-

46<564», $�, 7. �4E4G>4?4; ��� «�4E?<=-�444», $�, 7. �4E?<=E>; ��� «�5D-

55=FE>>5 �&�», $�, 7. �5D55=F), ?45>D4F>D<< >4D54D «&5E=<G5E>4O M>E??G4F4-

F<O 46F><>5<?5=», «�6F><>5<?L=O= FD4=E?>DF». �OH5G>474==O5 ?D54?D<OF<O 

< ?>4D4745?5=<O G=<65DE<F5F4 >55E?5G5==O =5>5E>4<<O< F5E=>?>7<G5E><< < 

=4GG=>-<EE?54>64F5?LE><< >5>DG4>64=<5<, <7<5D<F5?L=O<< ?D<5>D4<< < 4DG-

7<< <4F5D<4?L=>-F5E=<G5E><< >55E?5G5=<5<, ?D>7D4<<=O< >55E?5G5=<5<, =5-

>5E>4<<O< 4?O ?D>6545=<O =4GG=>-<EE?54>64F5?LE>>= D45>FO. 

 

11. �E>55==>EF< >D74=<74F<< ?D4>F<>< >5GG4NM<EEO E GG5F>< >E>55==>-
EF5= 4?O <=64?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

�D4>F<>4 4?O >5GG4NM<EEO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 

<=64?<4>6 ?D>6>4<FEO E GG5F>< >E>55==>EF5= <E ?E<E>D<7<G5E>>7> D476<F<O, 

<=4<6<4G4?L=OE 6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO. 

�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?O-

NFEO E?5F<4?L=O5 GG55=<>< < GG55=O5 ?>E>5<O, <=4O GG55=4O ?<F5D4FGD4, 

?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO =5-

>5E>4<<GN F5E=<G5E>GN ?><>ML. 

4) 4?O E?45>6<4OM<E:  
- =4 74G5F5 E >F5=>>= ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5-

>5E>4<<GN ?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL 

D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<-

EO64O ?>4 4<>F>6>G); 

- 7444=<O 4?O 6O?>?=5=<O, 4 F4>65 <=EFDG>F<O > ?>DO4>5 ?D>6545=<O 74G5F4 

E >F5=>>= 74G<FO64NFEO 4EE<EF5=F><; 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 5G<475, =44<>F>6O64NFEO 4EE<-

EF5=FG; 

- >55E?5G<645FEO <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 

?N>E; 

- EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D< =5>5E>4<<>EF< ?D54>EF46?O5FEO 

G65?<G<64NM55 GEFD>=EF6>. 

5) 4?O 7?GE<E < E?45>E?OL4M<E: 
- =4 74G5F5 E >F5=>>= ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5-

>5E>4<<GN ?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL 

D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<-

EO64O ?>4 4<>F>6>G); 

- >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> 

<E?>?L7>64=<O, ?D< =5>5E>4<<>EF< ?>EFG?4NM<< ?D54>EF46?O5FEO 76G>>GE<?<-

64NM4O 4??4D4FGD4 <=4<6<4G4?L=>7> ?>?L7>64=<O. 

- ?> 65?4=<N EFG45=F4 74G5F E >F5=>>= <>65F ?D>6>4<FLEO 6 ?<EL<5==>= 

D>D<5. 

6) 4?O ?<F E =4DGL5=<O<< >?>D=>-46<74F5?L=>7> 4??4D4F4 (FO65?O< 
=4DGL5=<O<< 46<74F5?L=OE DG=>F<= 65DE=<E >>=5G=>EF5= <?< >FEGFEF6<O 
65DE=<E >>=5G=>EF5=): 



30 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64=-

=O< ?D>7D4<<=O< >55E?5G5=<5< <?< =44<>F>6O64NFEO 4EE<EF5=FG. 

- ?> 65?4=<N EFG45=F4 74G5F E >F5=>>= ?D>6>4<FEO 6 GEF=>= D>D<5. 

 
 
 
 
 
 
 
 
 
 
 
 
 



31 

�D<?>65=<5 
�D<?>65=<5 1 

 
����%&�$%&�� %��,%���� %��/�%&�� $$ 

 

$���' �� «�475EF4=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F 
<<5=< �.�. �64<5G?4F>64» 

 
�4?D46?5=<5 =4 ?D4>F<>G 

 
%FG45=F _____________________________________________________________________ 

 

=4?D46?O5FEO =4 ?D><76>4EF65==GN ?D4>F<>G (=4GG=>-<EE?54>64F5?LE>4O D45>F4) 

_____________________________________________________________________________ 

                                                         =4<<5=>64=<5 ?D54?D<OF<O (>D74=<74F<<) 

 

=4 ?5D<>4 E ______________________________ ?> _________________________________ 

 

«____» _________________ 20___7.                       �5>4= D4>G?LF5F4 ___________________ 

 

 

$5>F>D (?D>D5>F>D)                                                                ___________________________ 
 D4EH<DD>6>4 ?>4?<E< 

 

_____________________________________________________________________________ 

 

 

�4>?NG5=<5 DG>>6>4<F5?O ?D54?D<OF<O (>D74=<74F<<) 

 

%FG45=F _________________________________________ 74 6D5<O ?D>E>645=<O ?D4>F<>< E 

_______________________ ?> __________________________ ?>?=>EFLN 6O?>?=<? (4) 7444-

=<5 ?> ?D><76>4EF65==>= ?D4>F<>5 (=4GG=>-<EE?54>64F5?LE>4O D45>F4) 
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$���' �� «�475EF4=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F 
<<5=< �.�. �64<5G?4F>64» 

 
$4>G?LF5F_________________________ 

 
%����%����� 

______________________________________

__ 

�.�. $4<<?<O DG>>6>4<F5?O ?D4>F<>< >F 

?D>D<?P=>= >D74=<74F<< 

«___»_____________________ 20____ 7. 

'&��$���. 

______________________________________

__ 

�.�. $4<<?<O DG>>6>4<F5?O ?D4>F<>< >F 

'=<65DE<F5F4 

«___»_____________________ 20____ 7. 

 
 

%����%&�/� $���'�� �$�$�� (����) 
=4GG=>-<EE?54>64F5?LE>>= D45>FO 

 

%FG45=F4 ____ >GDE4 >5GG5=<O GG55=>= 7DG??O 7  _____ 

�4?D46?5=<5 ?>47>F>6>< / E?5F<4?L=>EFL ____________________________________________ 
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?D4>F<>< 
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1 �D74=<74-
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1.�D74=<74F<>==>5 E>5D4=<5 4?O D47NOE-

=5=<O F5?5=, 7444G, E>45D64=<O < ?>-

DO4>4 ?D>E>645=<O ?D4>F<><  

2. �=EFDG>F46 ?> F5E=<>5 557>?4E=>-

EF<.  

3. $47D45>F>4 <=4<6<4G4?P=>7> 7444=<O 

  

2 �E=>6=>=  1.%5>D <=D>D<4F<<. 

2.�5D45>F>4, E<EF5<4F<74F<O < 4=4?<7 

D4>F<G5E>>7> < F5>D5F<G5E>>7> <4F5-

D<4?4. 

  

3 �4>?NG<-

F5?L=O=  

%>EF46?5=<5 >FG5F4 ?> ?D4>F<>5   

�4M<F4 >FG5F4 ?> ?D4>F<>5 
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                                                                                          (G>474FP ED>><) 

�5EF> ?D>E>645=<O ?D4>F<><: ___________________________________________________ 

_____________________________________________________________________________ 

(G>47O645FEO ?>?=>5 =4<<5=>64=<5 >D74=<74F<< 6 E>>F65FEF6<< E GEF46><, 4 F4>65 D4>F<G5E><= 44D5E) 
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%FG45=F4 __ >GDE4  GG55=4O 7DG??4 7 ____ 

�5EF> ?D>E>645=<O ?D4>F<><: 

________________________________________________________________________________ 
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4. ____________________ < F.4. 
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4. ____________________ < F.4. 
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